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D C B A Questions | Uiy -y
4 5 4 5 25) )
5 4 5 4 (E} —
24 X ?x{_l _2}{1 O} i
0 -1| |0 1
{2 2} {2 0} {0 2} [2 2} <! 5
0 2 0 2 2 2 2 0 Ifx{_l —2}_{1 0}, then X
0 -1/ [0 1
is equal to:
u,/’}??ﬁ)ﬂ(j‘)d’l/’({/}gjé}ﬁu/‘///’
10 -1 0 1 b | 3
The logarithm of any number
to itself as base is:
1 -1 7 7 (3+2)(3-v2)=__ 4
4 crm Lx*-5x+6
X+2,X+3 X+6,x-1 X—2,X-3 X+1,X—-6 - 5
The factors of x> —5x +6 are:
< &Aip¥a® —2a+1
a+l a-1 +(a-1) +(a+1) The square root of a®~2a+1 | 6
is:
Kerf L elils F X =0
Xx—2<0 X+2<0 3x+5<0 x>0 néJ/ 7
x=0 is a solution of the
inequality:
i 44(X,y)92(%,0)=(0,y) /i
(11) (0,0) (1,0) (01) =4(xY)3#(x,0)=(0y) 4|
If (x,0)=(0,y), then (x,y)is:
Aot e €(01) 1 (L0) 8
2 1 0 - 9
V2 Distance between the points
(1L0)and (0,1) is:
S S-S S-S S IR PN 10
AS.A SS.S S.AS SAA iS postulate.
BB S b s L s £ ek
2B 21 4 g The —etwasl . Ld’igﬁ: 11
One fourth One third Half Double |ine Segment joining the m|d_
points of two sides of a
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triangle is of the third
side.
. ol (oo Lo st L ek
$ils B W5 Ju “alx| 12
Parallel Concurrent Collinear Congruent | The right bisectors of the three
sides of a triangle are:
uf&f A I (!/CK :Lat"n&'ghvrj 13
No one Meter Newton Kilogram | Ratio has unit.
1 ] & Bl 7z 7 7z 7 7 " . | 8
E(dstwb)X L d!/";{ o (}LJ dLJ « du £ % GVJUFG A -_F ______ —”,,)I/K(:WU!(}A!’ 14
%(base)(ammde) length x width lengthx length basex altitude | ¢8O parafielogram =
&L i 1590° Ut adi o 1276
> 73 2f iy ‘,ujti ,,,,, /ébLl} 15
Line Hypotenuse Altitude Base The side of a right angled triangle
opposite to 90° is called:
1-by-3 3-by-1 2-by-3 3-by-2 DTS e F 1} e 16
3 2
Order of transpose of F q is:
3 2
{1, N ,1} {0} {0.-1 {0} (et O ok crvof | Y
2 fe b
Which of these sets have the
closure property w.r.t
addition?
1 © 0.4343 0 loge = (e~2.718) | 18
bl F sl -] Az < d/.;.,g(4x+3y—2) 19
Inequation Equation Sentence Expression (4x+3y—2)is an algebraic:
(x-1),(3x+2) (x-1),(3x-2) (x+1),(3x+2) (x+1),(3x-2) &F  m L3xE—x-2 20
-t
Factors of 3x* —x —2are:
4x? 16x° -8x2 8x? w/w‘,ﬁqggw x*+64 47| 21
%l
What should be added to complete
the square of x* +64?
X—-2<0 X+2<0 3x+5<0 x>0 berFL ehleFx=0| 22
s
x=0 is a solution of the
inequality:
5 4 3 2 e sy Iny=2x+1x=2/1| 23
If x=2, y=2x+1theny is:
-
Mid-point of the points (2,2)
and (0,0) s:
© = y - e Qe Lesbrl-1 | 29
The symbol used for 1-1
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correspondence is:
S o S g S (Lo g e | 26
Non-parallel Un-equal Non-congruent Congruent | In a parallelogram opposite
sides are:
$5 LA LA J ebof Lo Lk | 21
Parallel Concurrent Collinear Congruent e
The right bisectors of the three
sides of a triangle are:
= U = - :%&ndbxfiuwcj.zifﬁi 28
Symbol used for similarity is:
o i Ui 3 Sl S Fus| 29
Base Volume Perimeter Area bl B
The region enclosed by the -«
bounding lines of a closed
figure is called of the
figure.
JFESS e & » VAT Y LabAugs | 30
None Four Three Two i
The _altitudes of an isosceles
triangle are congruent.
2 V2 1 0 At G €(00) w(L0) s | 31
-
Distance between the points
(L0)and (0,1)is:
~ © = U The symbol of i o § S | 32
congruent is:
115° 105° 90° 759 In figure x° = o 33
x° =
x°
5 15 o5 Gt 1 o f s e Qb o s | 34
Point Line Ray Line 3 o s
segment A is called a bisector of
an angle if it divides the angle
into two equal parts.
o Ll e — wjé/&b'éd/,u,uﬁu;?” 35
Range Average Ratio Proportion | Equality of two ratios is called:
5/ oy soatf &6 S L LS| 36
Difference Union Complement Intersection W
A rectangular region is the
___of rectangle and its
interior.
A5k gfu'd,u A6 EueyiSsla Sl d g Jl}*;/u}?éwb{uﬁ 37
Acute Angled Isosceles Right Angled Equilateral ne
If the three altitudes of a
triangle are congruent, then the
triangle is:
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st Yo K 2 0 33
Singular L‘}Jnit Scalar ;e/:) -+ te W [{{ ﬁjl
. . N
is called matrix. l: . \/E}
& F g 3 s fu 4 | 39
Write 4% with radical sign:
Iog(gj :Oﬁ log(p—q) Iog(gj logp-loggq=___ 40
q 0gq q
4 3 2 1 s KX +2xy ¢4 F| 4
i AN
The degree of polynomial
4x* +2x%yis:
(x-1),(3x+2) (x-1),(3x-2) (x+1),(3x+2) (x+1),(3x=2) | 3 iz L3xP—x—-2 42
-t
Factors of 3x* —x —2are:
a?—ab+b? a’+ab+b? a+b a-b Aika’ —bP a2 —b? | 43
-
H.C.F of a®> —b*and a®-Db’is:
Xx—2<0 X+2<0 3x+5<0 x>0 berfL hle F X =0 44
s
x=0 is a solution of the
inequality:

v " I I e LS5 (=3,-3) 45

Point (—3,—3)lies in quadrant:
1:1 1:2 1:3 1:4 g /;/».,{!;Lw/;éw 46
B A
The medians of a triangle cut
each other in the ratio:
y JU s &u X JL,J Sonl = - K E eyl S5 47
Area Mass Weight Length LG
__ of parallelogram = base
x altitude.

2 1 3 4 :‘L;iﬁJLPLI)é@gLL}:L@» 48
Number of lines, that can be
drawn through two points is:

) I ke ﬁlxé}( ﬁub/; Jl[%d)!/cﬂnd)fd/bﬁ(f( 49
Second end First end Any point Mid-point | _ » 2 a0t L
Right bisection of a line ..~
segment means to draw a
perpendicular at __ of line
segment.

S ey S s e (L LS| 50

Congruent Non- Non-congruent Collinear Diagonals of a rectangle are:
concurrent
4 3 1 2 L6/ BB e | Ol
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-t
Two non-parallel lines can
intersectat ___ point(s).
(0,0) (-3,3) (-3,0) (0,3) e 536 (3,0) 4 (-3,0) b6 | 92
Mid-point of points (-3,0) and
(3,0) is:
(-1,-1) (11) (-11) (1,-1) (x%,Y) 7% (x-1y+1)=(0,0) /i | 53
el
If (x-1y+1)=(0,0) , then
(x,y)is:
{0.3} {0} {4} @ cerSHx—4=—4 | 54
Solution set of [x —4|=—41is:
a+b a—b 1 1 a’-b’ a’+ab+b® 55
a’+b? a’+b? a-b a+h a'-b* a’+b®
X+2,X+3 X+6,x-1 X—2,X-3 X+LXx=6 | 42 2 Lx*-5x+6 56
-t
The factors of x> —5x + 6 are:
-2b —2a 2b 2a 1 1, 57
a’ - b? a’ —b? a’—b? a’-b’ a-b a+b
_Lgt'/:/,l/,
The logarithm of unity to any
base is:
—2abi 2abi —2ab 2ab > J:"” ¥ 2ab(i +i2) / U’E‘L’j 59
-
Real part of 2ab(i+i%) is:
_an-cm _an-cm _an+cm _an+em oo fa x| _[m 7 60
" ad—bc " ad+be " ad+be " ad-bc 'ML d}{y}:{n} ’
L]
c djy n
3.5 2.5 3.6 2.6 o~k | 61
1 hectare ~ acres
X4y 2 x—y 2 x2—y2 2 x2+y2 2 X_2_2+y_2: 62
- < _— 2 2 _—
Xy Xy Xy Xy y X
e 4 2 L J{'L}‘ [y Py cjgw Salr 63
Four Three Two One piw
__ altitudes of an
isosceles triangle are
congruent.
ég e o I <uj’:d/h,/l'}'/é_n/,l/,£uitj <<<<<<< 64
Five Four Three Two Proportion is equality of
ratios.
(detA) I Al detA+1 detA A A(AdjA) = 65
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s Jﬁiﬂj S Y Gonf Lo S Lok B sl | 66
Concurrent Non- Congruent Equal e 6 sl et
concurrent The right bisectors  of
congruent sides of an isosceles
triangle and its altitudes are:
4 1 2 3 G el S S5 ki | 67
-4
Number of right angles in a
triangle can be:
a+1 a-1 +(a-1) +(a+1) < &Aicka®—2a+1 | 68
The square root of a®>—2a+1
is:
0.423 0.4343 0.4545 0.4646 log,,el] 69
X—-2<0 X+2<0 3x+5<0 x>0 ber L el Fx=0| 10
s
x=0 is a solution of the
inequality:
(11) (0,0) (-2,-2) (2,2) 5 Qs €(2,-2) w(-2,2) s | 1
.
Mid-point of the points
(2,-2)and (-2,2)is:
J_ = JL"“""&”U‘ _______ éél'é}.”k"kﬁ"" 72
e
Symbol used for “therefore”
is:
oy S sa ey Ny 2P SN fbslaks| 13
Equal Congruent Concurrent Non- Medians of a triangle are:
concurrent
a—-b a+b (a+b)2 (a—b)2 a? —b? 74
a+bh
1 75
x x : (B
16
= B N ~ -+8ndvvruw ....... Ll g 76
Symbol used for ‘approximate’
is:
3 2 1 0 oty A e JE e S L "
Y P
A parallelogram has
right angles.
X—2 x?—4 X+2 X3 1k §x% =X =64 X* —5x +6 8
-
HCF of x*-5x+6 and
x* —x—6is:
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-9 6 -6 9 . |26 #1 79
foee 22x 7 = f
‘ 3 x
26 =0, then x is equal to:
3 X
120° 90° 60° 30° 30° wolfiy e nb Lakepfigns | 81
One S Vs S emsv L Ui-e
angle on the base of an isosceles
triangle is
30°. What is the measure of its
vertical angle?
5 4 3 2 -wz_-}’fé-/ _____ pr’k}.ug 82
A line segment has
end points.
VLI AN AN FUISE | e Sl b o2 £ 2 e 1| 83
None of these Equilateral Scalene Isosceles e
A triangle having all sides
different is called:
a+b a-b a?—h? aZ+b? (\54_%)(\5_%): 84
x—2<0 x+2<0 3x+5<0 x>0 ber L il FX=0 85
s
x=0 is a solution of the
inequality:
LU 3 du = IEV-AlN I S 86
Perimeter Area Length Ratio has no unit.
(a>—20%),(a” +2b°) B (a—b),(a+b),(a>+4b) A oy dreizlat—4pt | 87
Factors of a* —4b”are:
(a—2b),(a”+2b%) D (a—b),(a+h),(a*~4b?) C
logg—logp logp+logq logp logp-logq ol P 88
L oal 2=
logq g q) —
IV I[ I [ e L S5 (-3,-3) 5 | 89
Point (—3,—3)lies in quadrant:
5+ 4i 5—4i ~5-4i —5+4i - oS7¢sv4i | 90
The conjugate of 5+ 4iis:
25cm? 10cm? 20cm? 5¢cm? e EVa ol 9
s
Area of given figure is:
e =hsls - Az < SAILi(4x+3y-2) | 92
Inequation Equation Sentence Expression (4x+3y —2)is an algebraic:
= * = R :ﬁ;and@”lywé L/J/,@jj 93
The  symbol used  for
approximately is:
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%] wgg F et Ly f’/ ______ L;wuaﬁwmwu’( 94
Intersection Complement Out lines Union e e
A triangular region means the
of triangle and its
interior.
e d i Sl il pde B S f | P
Non-similar Similar Parallel Different In shape congruent triangles
are:
Ja? (Va)? Ja (a)° e bl b e 3fa | 96
2fais usually written as:
Ak S # St S e wp st e Lewengas | 97
Unequal Un-parallel Parallel Non- In parallelogram opposite sides
congruent are:
1:1 1:2 1:3 1:4 g S pnfic bl ok | 98
S S
The medians of a triangle cut
each other in the ratio:
y: =X X' =y 2V =x x' =z Jxy=log, x| 99
The relation y = log, x implies:
16 4 -8 8 SO+ axrmL L m | 100
W bl
Find m so that X* +4x+mis a
complete square.
1860 1858 1856 1854 o & Uss S e i y_f/;/y 101
<JI/J/L:3‘
Arthur Cayley introduced the
theory of matrices in:
<3 L.6) Lo @7) §B(~1,1) .51 A(2,5) b6 » 4 b5 5 | 102
2 3 e 0L
Mid-point of the line segment
joining A(2,5)and B(-1,1) is:
» g4 e é& -+3M b/b"u’/.'/.u( Us 103
Two Three Four Five Equality of ratios is
called proportion.
e W ' 8 e Sex 4= | 104
The solution set of [x —4|=—
is:
a+l a-1 +(a-1) +(a+1) - &iesa?—2a+1 | 105
The square root of a*—2a+1
is:
v " I | .éuwd./‘gd}p(_g _3)3,- 106
Point (—3,-3)lies in quadrant:
b &bw /:C )t ) . f 0 107
Singular Unit Scalar Zero Rl Cm—
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 8
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{\E 0 :l is called
0 V2
matrix.
A Wl F AP kb < AE | 108
a complex number a negative a rational number a positive | Every real number is:
integer integer
10 -1 0 1 .‘,lﬁ;"yz}ﬁd‘;JLA J{/(}’L}ﬁfﬁ/ﬁ 109
b
The logarithm of any number
to itself as base is:
Ja-b Ja++b a—b —a++b Lz tu va+b s 110
-
Conjugate of surd a+ \/5 is:
16 4 —8 8 JEXCrax+mL L $m | 1
LERI
Find m so that X* +4x+mis a
complete square.
X+2 X—2 x+3 X 4x=6 | b exPex—6 sx—2 o | 112
-
H.C.F of x—2and x*+x—6
is:
x>10 x <10 x <10 X>8 Fnze 10 xS | 113
If x is no longer than 10, then:
v i I | :‘auﬁdjéd};/(z,_?,)‘g 114
Point (2,-3) lies in quadrant:
(-1,-1) (0,1) (1,0) (12) 5 des €(2,2) w(0,0) s | 115
i
Mid-point of the points (2,2)
and (0,0) is:
2 0 1 3 ﬁ%" Ve d’uﬂfﬁ'uﬁw&( 116
In a triangle, there can be right
angle:
Iyes S uf“l;' L}KZ vaﬁ;"UﬂJ&L‘mgﬂiﬁibﬁglﬁ‘uﬁ 117
Perpendicular Parallel Proportional Collinear Lo PRy
If two intersecting lines form
equal adjacent angles, the lines
are:
% N el Cuengis | s S e LS| 118
Trapezium Rhombus Triangle Parallelogram S wim
If two opposite sides of a
quadrilateral are congruent and
parallel, it is:
i Ssle LA b 25 e UL B L gyt g’ | 119
Equidistant Collinear Proportional Perpendicular e lbr
Any point on the bisector of an
angleis _ from its arms.
2 g4 s ég -9&12( -,/l'/"d/.'/.u( U 120
Two Three Four Five Equality of ratios is
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 9
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called proportion.
o4 s S sz | G #90° Lo 6 2 A | 121
Rhombus Trapezium Rectangle Parallelogram -
A quadrilateral having each angle
equal to 90° is called:
e e erled Z i
N = —> = I T 122
Symbol used for similarity is:
1 -
= Gl )W P P < P /
2 ( “ )(C /') d’j}?: X du C@/’ X du(}/bﬁg dl{", X dw ------ = J/KCMU'UJ'P 123
%(base)(altitude) length x width|base x altitude| length x length | Area of parallelogram =
S LA J&LP‘ BA Y 2 Sl LW UsF Ll 124
Parallel Concurrent | Congruent Collinear | The medians of the three sides of a triangle are:
. bl /V? ° }
Singular Unit Scalar Zero .
g VE 0 }is called matrix.
0 2
5+ 4i 5 4j 54 544 _ - L2540 | g
The conjugate of 5+4iis:
The logarithm of unity to any base is:
4 2 &)
4 3 2 1 - - : ;/)K:]-X- +2X yuj/ﬁ'/ 138
The degree of polynomial 4x* +2x?y s:
7, oA 2 .
16 A » g | \?m?;/.d/ﬂx -I—4X+m~i£._/xj‘fd/m 139
Find m so that X“ +4X+mis a complete square.
; ¥uka® —b® sia? —b?
a’—ab+b® | a®+ab+b? a+b a-b o 140
H.C.F of a® —b%*and a’—b’is:
cabl/uz.uug R bl//; /ZJ/?'!?QUL"&’ iyl _La(jU»/ Lb&&ulk..{lé/cuf <e><L2 JJ}QQ&/
Linear In; wality | re=edled| £ uuation A statement involving any of the symbols <, >, <or > | 141
Equation quatity Identity g is called:
e Gl Sl Yy = 2X =lsle 5Ly
01 2,2 2,1 12 . LT ) 142
( ) ( ) ( ) ( ) Which ordered pair satisfies the equation y=2x?
- A 6(0,2) 41 (1,0) 56
2 2 1 0 _ T et )’_( ) 143
Distance between the points (1,0)and (0,1)is:
4 3 2 1 «d}é[é;/a‘b&‘:/ﬁj ««««««« b}bi) 144
Two lines can intersect at point(s).
J,,‘&)(’l/:’ ,L,‘a(’f sz /,l/,/{. Y P QJUJQZ—CWUU)!;’ 145
Non-concurrentf Concurrent Equal Unequal In a parallelogram opposite angles are:
il B BA S ~lx S LEAUE L el | e
Parallel Concurrent Collinear Congruent | The right bisectors of the three sides of a triangle are:
s . L/&B‘ﬁgéwfg/uvgde}/é@&'ﬂ!éwd:u ______
e e f sl Y4 . . . 147
Right Equilateral Acute Obtuse _ The rlght bisectors of the 5|d§s of a/an_ -
triangle intersect each other outside the triangle.
j"‘..c u:‘}é’( rl/}g A ~E e dmd/b""') 148
Second No one Kilogram Meter Unit of ratio is:
i;&ndb”lw&é&:}kud 149
Symbol used for therefore is:
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 10
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-t £ il SE e rght biseotors of T Tre td}f;&f‘uf;&f 150
Parallel Concurrent Collinear Congruent are? right Disectors ot the three sides of a triangle
= L
dm-—bn dm+bn dm+bn dm-—bn c djly] |n 151
ad —bc ad +bc ad —bc bc —ad 12 20X 2™ then x =
c djy n -
& 57 X% X 7 = 152
1.23026 0.23026 2.3026 23.026 log,10 = 153
a-+b)’.(a—b)’ B a—b)> —(a+Db)’ A
@+b)’(a-b)" (a—b)’ ~(a+b) tab 154
(@+b)*—(a—b) D (@+b)* +(a—b) C
¢ P(a) Fd 2326 P(X) &2 (x —a) /i
1 0 X a The polynomial (x—a) is a factor of the | 155
polynomial P(x)if and only if P(a) =
L Liil 2 e
ax? 16x2 _8x? 8x’ ol ST X ARt T
What should be added to complete the square of x* +64 ?
3 -906VQK¢{J’£—2<X<2;A:L»}X=_
= 0 3 -5 3 157
2 X =___isasolution of the inequality —2<x<5.
0.2 0.4 05 0.6 Als___ /| 15
1 Acre = hectare.
- 153 6(2,2) 41 (0,0) 48
(-1-1) (01) (1,0) (12) o T Gos(2,2)(00)8 | g
Mid-point of the points (2,2)and (0,0) is:
3 2 1 0 ) -‘L&ﬂ--T ------ )U;d/u’/u:cw 160
Number of end points in a ray is:
Zzk J‘U" J:L?‘/ BA Y P }'}:C_J.'.M/ 161
Un equal Congruent |Non-congruent|  Collinear Diagonals of a rectangle are:
4 2 &
4 3 5 1 - : ,.Z/Jg4X2 +2X ygjz//:f 162
The degree of polynomial 4x* +2x?y is:
(2x-3y).(4°-9y") | B | (2x+3y).(4C+9y") | A W e Led 421y’ |
(2x—3y),(4x2 +6xy+9y2) D (2x+3y),(4x2 —6xy+9y2) C | Factors of 8x* + 27y are:
- M 2 [—
a+1 a-1 +(a-1) +(a+1) - : Glukdal-2a+l | g,
The square root of a® —2a+1is:
hlrGnk e 3 A8 2zl S 3 zellerw i et <> <> Skl
. -4 . sl ; — 165
Linear Inequalit sernd Lo Equation A statement involving any of the symbols <, >, <or
Equation q y Identity q > is called:
i1 (X,Y)In(x=1y+1)=(0,0)/
(-1,-1) (11) (-12) (1L-1) £ (0Y) I OLY+)=(00) A o
If (x—1,y+1)=(0,0), then (x,y)is:
- 3 6(2,-2) 1 (-2,2) 56
(1) (0,0) (2-2) | (2 | = Aes2a(22uE L
Mid-point of the points (2,—2)and (-2,2)is:
The symbol used for correspondence is:
-‘gt/ﬁ’wuﬁu?*’"ﬂf&* ...... L3S oS5
1 4 3 2 Diagonals of a parallelogram divides the | 169
parallelogram into congruent triangles.
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 11
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______ Zalide pofisot$osf LEUANL 2l sti o 5
/ZE_ Oy Py J»f’ -tﬂz-/cg 170
Outside Hypotenuse Base Inside The right bisector of the sides of an obtuse
triangle intersect each other the triangle.
S| L g wianes e s i e s of | 171
Large Proportional Different Equal their corresponding sides are:
Bcm
36cm? 16¢cm? 32cm? 18cm? o e SKFES | 172
Area of the given figure is:
2710 LIS 2715 G- If the th‘rinaltitudes&(?:ﬁiinb;;: ;’gé)ﬁl:g’f 173
Acute Angled| Isosceles Right Angled | Equilateral then the triangle is: ’
b o AC §p is called matrix. HJE «OE} e b 6 S| HE j?:l 174
Singular Unit Scalar Zero
_4 _3 4 5 [ éj _ 175
5 4 5 4 16 —
The logarithm of any number to itself as base is:
ez (\E+\E)(\E—\E)
a+b a-b a’ —b? a’+b? 177
(\/§+\/5)(\/a_—\/5) is equal to:
57 (e 2
X+2,X+3 | x+6,x—-1 X—2,X—3 X+1,x—6 - dreml Xt -5x+6 178
The factors of x> —5x +6are:
i 2 B XE—
o 4 a2 3 -+ (}”;;ub@: X §;lx 5X+6 | 129
H.C.F of x“—-5x+6and X" —x—6is:
ehsle Gk e 4 YU B w0zl i e st <> <> Ut ukds
. -l ﬁ& - o Mals ¢ . - 180
Linear Inequalit nu/;éﬁ_‘w’“ Equation A statement involving any of the symbols <, >, <or
Equation g y Identity q 2 is called:
e a2 (X,Y)Ix(x-1y+1)=(0,0)/
(-1-1) (L1) (-11) (L-1) s (xY) 7 y )=(00) 4 o
If (x—1,y+1)=(0,0), then (x,y)is:
- Aol (1,1) (0,0) 56
N 2 1 0 _ e ( )’_( )5 e
Distance between points (0,0)and (11)is:
3 2 1 0 e (R T. ¢
A ray has end points.
<Lal:‘/ffw u:u}pfu"* <<<<<< 28 6 oI5
4 3 2 1 Each diagonal of a parallelogram bisects it into | 184
congruent triangles.
g B S g s s s FE LU e 185
Parallel Collinear Unequal Equal Corresponding angles of similar triangles are:
é ﬁﬂ 2f b :u}LnJL’d:fLCM!Lw‘f( 186
Collinear | Concurrent | Perpendicular | Proportional | The right bisectors of sides of a triangle are:
. . . Kyu:gﬂz_/()bi{LU&J?M&WL!}L//&A%MJ%AJ(
L by oy i . . . 187
Altitude Union Area Perimeter The region enclos_ed by_the bounding lines e s
of a closed figure is called ____ of the figure.
120° 90° 60° 30° 260 S asi UL 1 30° i fip e sl LakifLigls | 188
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One angle on the base of an isosceles triangle is ¢«
30°. What is the measure of its vertical angle?
- ,?/JK[Z 1] Nl
2-by-2 1-by-1 1-by-2 2-by-1 ) f 189
The order of matrix [2 1]is:
NS e e Ux’ (27x) ™ = 190
8 8 9 9 “
0 e 10 1 'Lgt‘n/.l/,é /1@('1' /,:u’L/lJ( 191
The logarithm of unity to any base is:
e sy Iny =2X+1:X =2/
3 4 3 2 If x=2, y=2x+1thenyis: 192
s Y4 LA BA :w&nwtéugn;uféw‘f 193
Proportional | Perpendicular | Concurrent Collinear The bisectors of the angles of a triangle are:
0 | 2 3 ilney e LUSLT | 19y
A ray has end points.
275 AL bl LIl e t-rwfge altitudeﬁ;’;ﬁirﬁ:&ig;ﬁéﬁ;é{ 195
Acute Angled Isosceles Right Angled | Equilateral then the triangle is: :
e < = LEVES 1t og;c;sylérilggsﬂgfwg lz;ﬁﬁaéteﬁi;g 196
Trapezium Rhombus Triangle Parallelogram congruent and parallel, it is:
- 1504%(2,2) 41(0,0) 16
(-1-1) (0,1) (1,0) (L) e e(22)0(00)8 o,
Mid-point of the points (2,2)and (0,0) is:
et LS b3 e P el S Sl F s
L ot 5 o et | 108
Altitude Union Area Perimeter | The region enclosed by the bounding lines of a
closed figure is called the of the figure.
L6 BA i S il LS e 199
Similar Collinear Proportional Congruent triangles are of same size and shape.
21
-LL;/){./G'J};"I/"L {O 1} Nl
1-by-3 3-by-1 2-by-3 3-by-2 - 32 200
Order of transpose of {o 1} is:
3 2
3 3 " P - o8 K-i(3i+2) A 201
Imaginary part of —i(3i+2)is:
e e Slogm"
log(mn nlogm mlogn loam)" T 202
g(mn) (logm) logm" can be written as:
. KA 42Xy § 2
4 3 2 1 s AT S 0
The degree of polynomial 4X™ +2X°y is:
574 (e 2
(x-1).(3x+2) | (x-1).(3x—2) | (x+1),(3x+2) | (x+1).(3x2) U ALAL X —X=2 | g,
Factors of 3x° —x —2 are:
) M 2 J—
a+1 a-1 +(a-1) +(a+1) - GlkRa-2atl | g
The square root of a“ —2a+1is:
X—-2<0 X+2<0 3x+5<0 x>0 e L enedx=0 | pg
x = 01is a solution of the inequality:
PN ~ L D Z‘L&MJL’HMIJ&“&L"Q)//‘:" 207
- The symbol used for “is perpendicular to”:
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S =y ) iy s el I L E oy S5 208
Congruent Same Diagonal Opposite | In parallelogram opposite sides are:
4 2 1 3 ~LL.t'}’ft/r:m Uﬁu}‘?/,i/. """ }I/Ls.—aff;:‘w 209
Bisection means to divide into equal parts.
Sz kfu" —t = -&”Jf‘jgé!ﬂ; ------- 210
Equality Congruent Proportion Ratio has no unit.
; ¥i¥a? —ab+b? sa +b°
a’+b’ a-b)’ a’—ab+b’ a+b ‘L—r}’j'; 211
(a-b) H.C.F of a®+b’and a® —ab +bis:
S i f sl 1-e 30° Laticfigewb LekiBUgis
120° 90° 60° 30° One angle on the base of an isosceles triangle is 30°. 212
What is the measure of its vertical angle?
. K-8+ 2) A
-3 3 2 -2 . vt 213
Imaginary part of —i(3i+2)is:
: Juy=2x+1.x=21
4 2 Ay ey 214
> 3 If x=2, y=2x+1thenyis:
0 e 10 1 _ «Lab‘_n/,l/,ﬁ _//(}J{'l' /.:Jl/lgf( 215
The logarithm of unity to any base is:
obl//:é e lala 0}5 Az - Lf/-}"vg(4x+3y_2) 216
Inequation Equation Sentence Expression (4x+3y—2) is an algebraic:
195243, 1600 a3y ooy )¢ oA L3174 S e
¢>1600 ¢<1600 ¢=>1600 €<1600 | If the capacity ‘c’ of an elevator is at most 1600 | 217
pounds, then:
- 504 6(2,2) (0,0) 46
(-1,-1) (0.1) (1,0) (12) o T Ceo(2.2) (00018 |, o
Mid-point of the points (2,2)and (0,0) s:
73 Sls Y Ju _ngn/,l/,uﬁ _______ Jﬁld’&b’" 219
Diagonal Median Area Length Congruent figures have same:
. 2 1
ﬁag/;&,)ﬁ')}f!/bé {0 1|6
1-by-3 3-by-1 2-by-3 3-by-2 - 32 220
Order of transpose of {o 1} is:
3 2
(x—4y),(5x-3y) | B | (x+4y),(5x+3y) |A L BXE -1Txy —12y° -
(5x—4y),(x+3y) | D| (x-4y),(5x+3y) | C | Factorsof 5x*—17xy—12y*are:
2 6 . . 26 -
-9 6 -6 9 If3 < =0, then x is equal t0: :c_c X 7 3 =01 | 222
y® % @y @y yi = 223
10 1 0 1 <<{_t‘n .,,lz;"m,wd;u-’k/!d/(‘{/g)ﬁu-qfr/'/! 224
The logarithm of any number to itself as base is:
3 . P
NG 8+3 8—3 3-8 If x=3++/8, then %: Ix=3++8. 225
LBV AL L g S8 92 —12ab
—4b? 4b? 16b? -16b? What will be added to complete the square of | 226
9a* —12ab?
alb At bt 2 b2 224 p? = J’utf'aus(a“—b“ sad+b? 997
L.C.Mof a®* +b?and a*—b*is:
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I3) U-{; /lg é& _UJZ.}':J'EI ““““ Lu;iﬁbﬂrb’“d/&g(}b 228
Two Three Four Five All the absolute value equations have __ solutions.
e a2 (X,Y) 3% (x,0)=(0,y) Ji
(11) (0,0) (L0) (01) =4 (0y) 7 0)=(0y) 1| g
If (x,0)=(0,y), then (x,y)is:
0.3) (-3-3) (3.3) (0,0) ' - - :‘4,&'51(}.1(‘/;{(3, O)-/}l (-3,0) s 230
Mid-point of the points (-3,0)and (3,0) is:
4 1 2 3 . -:‘QG’C}::}U;JUZJUJG'J%J( 231
Number of right angles in a triangle can be:
S ‘Ll’\”l (A LA e YA S sl el | 5oy
Congruent on Concurrent Collinear Medians of a triangle are:
concurrent
L Lz o ey e ey 233
Similar Since Therefore |Is perpendicular to| Symbol 1| means:
ég Se o 2 <u,7':£_./l§:’/'¢n/,l/,£u;fj <<<<<<< 234
Five Four Three Two Proportion is equality of ratios.
A I R B Al P o et oA P
guotient product subtraction addition base and height (altitude). E—
e i S ioe 30° Ll ge b Ladi B
120° 90° 60° 30° One angle on the base of an isosceles triangle is 30°. 236
What is the measure of its vertical angle?
2% 57 49 7 :La_ijX¢\/2x—3—7=0_ufl/ 237
The value of ‘x’ from the equation/2x -3 -7 =0 is:
i (X,Y)In(x=1y+1)=(0,0)
(-1-2) (1) (-12) (1-1) = (%Y) 2 (x Ly 1) =(00) 71 o
If (x—1,y+1)=(0,0), then (x,y)is:
ic Lol 156 (—4,-3) 11 (0,0) b&
25 5 -5 7 The distance between the pair of points (0,0) and | 239
(-4,-3) is:
The symbol used for parallel is:
&\ e 54 5 A e LW L | 941
Five Four Three Two A parallelogram has vertices:
— . AB — e Gndiierkd LABL | 540
AB AB AB The symbol used for the line AB is:
S S S 44 iz B AP e S 43
Un-parallel Parallel Same Different | Congruent figures have area.
- - . ;L 2 el $osf LE Mo s L
Parallel Concurrent | Collinear Congruent ;’rr;g right bisectors of the three sides of a triangle
. bl /| {\E ° }
Si /}CI gmt S):T Zd/w e 245
ingular ni calar ero
g VE 0 }is called matrix.
0 2
Iﬂ/uﬁ(/l?ﬂi//42/3
B 213 3 32 - 246
e e Ve e Write 4°” with radical sign:
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1 o 0.4343 0 loge= (e ~2.718) 247
. Sred§ L inx=a—Ji7 /i
417 4+ 17 4+ 17 ) X 248
4+17 If x =4-+/17 then the value of = is:
X
H #E # o i 06er | 549
No one cm m kg The unit of ratio is:
S e 2
X+2,X+3 | x+6,x-1 | x-2,x-3 | x+1x—6 L PEmL X -5X+E | o
The factors of x> —5x +6 are:
2 4 4o 3 - X2 —X —6 1 X* ~5X +6 251
H.C.F of x*-5x+6and x*—x—6is:
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Class: 09

All Punjab Past Papers

Mathematics

Section 1

=

(Part-1

Jil4za )

12 Solve any SIX parts of the following.

Define skew-symmetric matrix.

" a+t3 4 [-3 4
6 b-1| |6 2

Find the value of x and y if x +iy+1=4-3i.

} , then find a and b.

Define complex number.
Findlog, 2.

Define antilogarithm.

Express the surd in the simplest form: %’*}96x6y7z8
Define surd.
2 2
Factorize: %—Zer—2
a

12 Solve any SIX parts of the following.

a+c a+2b B 0 —7
c-1 4d-6| |3 2d

Define square matrix.

} e i S d e bea

ZESfande (Sl 2

E b ()

. .la+3 4 -3 4| - ..
-;é(k”ox"’&ambu{/i{ ; b—l}{s 2}/! (ii)

Xy +1=4-3i A eddymx (i)
PN ()
log,2 :Zpsed (V)
A FEF K (Vi)

3/96x°y’Z° :éufdﬁqi/z?/‘/uﬁ» (vii)
Ay 5 e (vii)

a? b2 s g

o7 2tr 267 (ix)

ESund (S 2
ZEwidsd, ()

Find the values of a, b, ¢ and d which satisfy the matrix equation: [HC ar Zb} = {O _7}

3

Simplify by using laws of indices: (%)

Simplify and write your answer in the form a + bi :

Calculate: log,2xlog, 81

Find the value of x: log,x=5

x%y® —5z2*
Xyz

Evaluate forx=4,y=-2,z=-1.

. . . 2

Rationalize the denominator: ———
NN

Factorize: 4x* —(2y-z)?

12 Solve any SIX parts of the following.

Define singular matrix.

c-1 4d-6 3 2

(%) N (I VO R (11)!
(=7 +3i)(~3+2i) (g 2 B Sarbi (V)

log,2xlog,81 gt ed (V)
log,x=5 :Zrs=ifx (Vi)

2,3 _E54
x=4,y=—2,2=—1~?§|’)"¢—gtf% (vii)

ﬁ 2 LS (vii)
4x*-(2y-z)* 267 (iX)
ESund (2
gl ()
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i£12%2 4 1172 4 thenfindaand b. T U T R I R DA
6 b-1 6 2 6 b-1 6 2
Simplify and write your answer in the forma + bi : (2—3i)(3—2i) (2-3))(3-2) :ZAZrFSarbi (i)
Simplify: (x*)? +x¥,x =0 ) =x¥ x#0 :ZEAZ (i)
Find the value of x: I096255:%x IogBZSS:%x :“ér}v.»j"‘fx (v)
Express in ordinary notation: 9.018x10° 9.018x10° 2t (Vi)
If a+b=5and a~b=4/17, then find the value of ab. _Zrrreddabiva-b=17 ma+b=5/  (vii)
. . . 6 6 o .

Rationalize the denominator: —— RN 4 71

\/§\/ﬁ \/g\/ﬁ & Ub C} (VIII)
Factorize: x*—11x—42 X2 -11x—-42 257 (iX)
12 Solve any SIX parts of the following. -{;J’;l'/.léc.éf 2
Define identity matrix. E S e (i)

4

Find the product: [6 O]B} [6 0]{0}5&*‘)‘@@/ (ii)
Simplify: 3~125 1z 4 (i)
Simplify: 5% +(5%)° 5+ (5% :ZAF (V)

b =3810945 7 log5 = 0.6990 #log3=04771./1 (V)
If log3=0.4771andlog5=0.6990, then find value of log45.

Find the value of x: log512tothebase 22 log512tothebase 22 :gfpded (Vi)
Reduce the rational expression to the lowest form: 2?)(:2( +3 86(‘()( +3 Edr i F s AIEF (i)
simplify: «/12 gs 25 £ (viii)
Factorize: 25x?+16-+40x 25x° +16+40x 2§75 (ix)
12 Solve any SIX parts of the following. -Z:J’;mic.df 2
Define square matrix. _é..v/JJb &, Q)

. . e 1 2| -
Verify that if A:[(l) ﬂ , then: (AY' =A (AY" =AI§Q»«NA{O J/l (i)
simplify: 4f8ly 2x° By o (i)
Simplify and write your answer in the forma -+ bi : (\/5 - 3i)? (B-3i)? :ZZkFSarbi (V)

. 1 1 .

: 4 log, — :ZEekreld
Find the value of x: log, 128 og2128 & ¢ (v)
Calculate: log, 2xlog, 81 log, 2xlog,81 :gEesed (Vi)
Simplify by combining similar terms: 2(6+/5 —3./5) 26V5-3\5) & ALYk (Vi)
Express the surd in the simplest form: 2\3/128 %3/128 :éuﬁ‘ﬁq/“ﬁ'ff(‘uwf (viii)
Factorize: 3x? —75y? 32 -75y? 204 (iX)
12 Solve any SIX parts of the following. Efand (2
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Define singular matrix and give example. <é§;JLf»..{i/,|§bg/7J.,)Gm Q)
Find the product: [1 2]{ 54} [1 2]{ 54} iZEe s (i)
Simplify: (x*)? +x¥,x =0 )2 =x¥ x#0 A2 (iii)
Simplify and write your answer in the forma + bi : (2 —3i)(3— 2i) (2-3)(3-2) :ZAZuFarbi (V)
Calculate: log, 3xlog, 25 logs3xlog, 25 e ed (V)

log,6=0.5 ?gnwuugﬂ;éécpgufd/r#t (vi)
What replacement for the unknown in given will make the statement true? log, 6 =0.5

Define rational expression. o A (Vi)
Simplify: §/243x°y"°z*° 5243x°y1°7° gL A (viii)

b (x=2) I3 —10X° +13x —6 2 i Bl nufiL e (X)
Use the remainder theorem to find the remainder when 3x® —10x* +13x—6is divided by (x —2)

12 Solve any SIX parts of the following. -g‘)’;méag}f 2
What do you mean by order of a matrix? Seslpfe 2 p L N6 (i)
1 2 —— 1 2| .
Verify that if A:[O J ,then: (A)' =A (AY! :Af“égzwyAz[o J/' (ii)
o . o 8 \* g\t . e
Simplify by using laws of indices: | — — =y suded L s ii
plify by using [125] (125j E ey (iii)
Simplify: |/25x"y*" 25Xy L (i)
Find the value of x: log, x =4 log,x=4 &b eddx (v)
Calculate: log, 3xlog,8 log,3xlog,8 :Zrs =i (Vi)
If a+b=7anda—b=3, then find the value of 4ab. _érkpéJ4ab§na—b:3ma+b=7/1 (vii)
Simplify: §/243x°y*°z* §243x°y107° gL (viii)
Factorize: 12x* —36x + 27 12x* -36x+27 264 (ix)
12 Solve any SIX parts of the following. -;;J’;l'/.léc.éf 2
Define matrix. _E Al (i)
: 4 4 ) .
Find the product: [-3 0]{0} [-3 O]{O} e Feds (i)
Simplify: (x°)? +x%,x =0 Y =x¥ x =0 2 (iii)
Simplify by using laws of indices: (%j 3 (%) 3 N (I AV R (1Y)
Find the value of x: log,, 9=x log, 9=x e =ddx (V)
Write in the form of a single logarithm: log25-2log3 log 25— 2log3 ;g@:&“d/f,wy., (vi)

FErbeif (@ +bY)ixa-b=6sa+b=10/ (Vi)
If a+b=10and a—b=6, then find the value of (a’+b?).

3y, _ . Xy —

Evaluate XY 2z forx=-1y=-9,z=4. x:—l,y:—9,2=4~?~é()’-’”ujurx y—2 (viii)
XZ XZ

Factorize: 3x —243x® 3x—243x° 234 (ix)
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12 Solve any SIX parts of the following. -g;d";lzle’zg_éf 2
Define transpose of a matrix. Ew L s (i)
- . - 7 1 -2 -
If Az[1 2}and B:{O 7},then find: 3A-2B :“éplvaz{o }MA:{ }/ﬂ (ii)
3 4 -3 8 -3 8 3 4
Evaluate: i* i g e d (i)
Simplify and write your answer in the forma +bi : (=7 +3i)(-3+2i) A2 FSa+bi (V)
Express in ordinary notation: 9.018x10°° 9.018x10°° :”&%ﬁ(f/“(u (v)
Find the value of x: log512tothebase 22 log512tothebase 22 :gfpded (Vi)
What is meant by rational expression in its lowest form? Ce Ve s Al Fe (Vi)
. . 1 1 1 1 o
Simplify: |2 +—= - 2+ — \/F——J =
Factorize: x* +%—3 x* +%—3 267 (ix)
12 Solve any SIX parts of the following. ESuns (S 2
Define rectangular matrix. Ea w0
Verify that if B:E (ﬂ , then: (B")' =B (B" =BI§QMJB=B (ﬂﬁ (i)
L XXy X2y o
Simplify: v =y (A (i)
Evaluate: (—i)° i)y :gprad (V)
Find the value of x: log,,8 =g log,, 8 =g il (v)
Calculate: log, 3 log, 25 log, 3xlog,25 :gEesed (Vi)
. . 1 1 1 1 "
Simplify: | V2 +—= || V2-— 2+ | g i
plity (‘/_ ﬁj(\/_ ﬁj (\/_ ﬁj(\/_ ﬁj &4 (vii)
. . . 15 15 . .
Rationalize the denominator: —— b PO
N Noar i FeeF (viii)
Factorize: 128am? —242an? 128am? —242an® :2=$%  (iX)
12 Solve any SIX parts of the following. ESund (S 2
Define rectangular matrix. Ea w0
. . (|11 0 0 2 11 10 0 2 11 e .
smoi (5 s ol 1s o Lo s S o] = o
Evaluate: i*’ i7igeead (i)
Simplify and write your answer in the forma+bi : (=7 +3i)(—3+ 2i) &2 g Sa+bi (V)
Express in scientific notation: 0.00000000395 0.00000000395 :éuﬁff/“ux (")
Calculate: log,3xlog,8 log, 3xlog, 8 ér}"g,g (vi)
Simplify: gs/lzs 2«3/125 22 (vii)
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. . 1 1 b (s
Rationalize the denominator: PRI
3+245 3+205 © Fee (i)
Factorize: x*—11x—42 X2 -11x-42 237 (ix)
12 Solve any SIX parts of the following. -{;:J’ylméc_éf -
Define transpose of a matrix. _Ew S e (1
. . e 1 1| - ..
Verify that if B:B ﬂ,then: (BY) =B (BY =BJ§J~,«MB={2 0}/! (i)
Use laws of exponents to simplify: (2x>y)(—8x%y?) xSy ) (=8xy?) & A o lued (i)
Simplify and write your answer in the forma+bi:  —(~3+5i)—(4+9i) A2 FSa+bi (iv)
Find the value of x: log, 64 =2 log, 64=2 e =dfx (V)
If log2=0.3010, then find the value of: log32 log2=0.3010 /fl_“é"}”‘;,{:"d/log 32 (vi)
2,,3 4 2,,3 4
Evaluate Mforx:4,y:—2,z:—1. x=4,y=—2,z=—1,,¢.“éph‘xwﬂfM (vii)
Xyz Xyz
Rationalize the denominator: ——> 1> i bPULF (vii)
" \B1-4 Bl-4 T
_a b’ a’ b? - ,
Factorize: 2t 2t 264 (iX)
12 Solve any SIX parts of the following. ESund (S 2
Define square matrix. E G, (i)
— . . — 2 3| -
If A{z 3}and B:[5 4]then find: 2A+3B  2A+3B :éﬂWB{S 4},IA={ }ﬁ (ii)
10 -2 -1 -2 -1 10
Simplify by using laws of indices: 3:53)? 3i$3)3n A e udhilusd (i)
Simplify: 8ly *x* ifely2x® s (iv)
Find the value of x: log, x =5 log,x =5 :é{)’”agd/x v)
Write in the form of a single logarithm: 2logx —3logy 2logx —3logy :éaﬁ&fﬁﬂw (vi)
. . 1 1 1 1 o
Simplify: | V2 +-—= \E——J (ﬁ+—j£ﬁ——j =y i
. . . 1 1 . .
Rationalize the denominator: — = PAILTLC
3+245 31205 St/ (it
2 2 2 2
Factorize: %—2+:—2 a_2_2+% 267 (ix)
12 Solve any SIX parts of the following. -;;J’;l'/.léc.éf 2
Define scalar matrix. REY A N ()
. . e 1 2| -
Verify that if Az[(l) ﬂ then: (A")' =A (A" :Aféqw;A{O J/l (ii)
q#0.p,q ezﬁéﬁwwﬁJgfo.ﬁ=0.232323 ...... (i)
Express 0.23=0.232323......in the form % , where p,qeZand q=0
Simplify: (x°)?+x%,x#0 32 =x¥ x#0 :ZZ (V)
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 21



The Hope Super Guess Paper Classs 9th

Express in scientific notation: 0.0074
Calculate: log,3xlog, 25

Why /2 + 17 is not a surd?

0.0074 &L
logs3xlog, 25 :gE ek ed
e UL 2417

-é/(’b”cagtf(az+b2)?na—b:6ula+b:10/ﬁ

If a+b=10and a—b=6, then find the value of (a’+b?).

Factorize: 12x* —36x +27

12 Solve any SIX parts of the following.

12x2 —36X+27 :Z$7

(V)
(vi)
(vii)
(viii)

(ix)

ESfande (Sl 2

. . L . 5 -10 . )
Find the given matrix is singular or non-singular? D= 4 St Al b 5T

IfA:[l _2}and B:{O 7]thenfind: 3A_2B
3 4 -3 8

3

Simplify by using laws of indices: (%)

Simplify and write your answer in the form a+ bi : (+/5 —3i)?

Calculate: log,2xlog,81

Define logarithm.

Simplify: [ﬁ+%j(f_%J
It x=2-3, find =

Factorize: 64x°+27y°
12 Solve any SIX parts of the following.

Define scalar matrix.
Find the product: [1 2]{ 54}

-5

4a%° "
Simplify using rules of exponents: [?J

Simplify and write your answer in the forma +bi :

Find the value of x: logg, 9=x

Calculate: log,3xlog, 25

Reduce the rational expression to the lowest form:

Simplify: (3++3)(3-3)
Factorize: x?+x—132

12 Solve any SIX parts of the following.

120x%y°z°

-2

—\

:“ér}l"';ﬂ8=|:o 7i|ulA=|:1 _2:|
-3 8 3 4

(%j !:L:f/‘?cud/dflféuc«}

(5-3i)? £~ S a+bi
log, 2xlog,81 :gfpk e

YN
(535

-éfﬁ‘c«ég{%?nX:Z—ﬁﬁ

64x° +27y° 1A

()
(i)
(iii)
(iv)

v)
(vi)

(vii)
(viii)
(ix)

ESund (S 2

A

i 2]{ ﬂ:;{rwmw

4a%° )" 52, s G s
F :"é/ﬁgnL/JWl/uﬁb’LV;J

@-V-0)B--4)  ZEA S daxbi
log, 9=x :&Eet=ddx
log, 3xl0g, 25 :gf b ed
Edr i F o A Ia G

(3+43)3-B3) &£
X2 +x-132 :Z§F

30x°%yz*

(1)
(i)
(iii)
(iv)
(V)
(vi)
(vii)
(viii)
(ix)

S 3

Find the H.C.F.: 39x’y’z , 91x°y"Z’ 30x'y'z , Oyz’ i Zek F e (i)
Define equivalent equations. oy S Uiaa 2 (i)
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Solve the equation: +2x—3-7=0 V2x-3-7=0 :gZfsen- (i)
Define Cartesian plane. _E sk (iv)
If C=§(F—32)andF=68°then find C. ‘“é(kfc?F:esswC:g(F—SZ)ﬁ V)
Define scalene triangle. oy Jlelen (Vi)
Find the distance between the pair of points: (0,0),(-4,-3) :“ér}vysuyﬂziu,izém (vii)
What is meant by HS=H.S? fe sl pfe (HS= H.S)é"’.},; &2 (viii)

One exterior angle -g& a3 §ustide st L1356 40° Lot finé o 2 b8 (L w1 (1X)

formed on producing one side of a parallelogram is40°. Find the measures of its interior angles.

e

12 Solve any SIX parts of the following.

ESund (S 3

Use factorization to find the square root: Exy+3—16y2 A S IR D (1)
Solve the equation: \3x+4 =2 Px+4=2 :ZFSen- (i)
Solve: [2x +3 =11 2x+3 =11 :Zpeeerf (i)
X +y-1=0 2 FEUC M oLl S Uty = mx+ ¢ Sehiad: (iv)
Find the value of m and c of the given line by expressing it in the formy=mx+c:3x+y-1=0
Define collinear points. _E PG DBA (V)
Find the distance between the points: Uu(0,2) , V(-3,0) :é(}‘”,&[éd?uég))jﬁéb@éé_; (vi)
Define triangle. Sy ek (vil)
What do you mean by congruency of triangles? ?‘L;u/tfgajmfu}f’ (viii)
Find the value of m: gEeidm (i)

P 8
N
dm+n
10
A
E 8m-4n M

12 Solve any SIX parts of the following. -{;/J’;l'/.lécéf -3

Use factorization to find the square root: X’ —1+4—12, (x=0) NS SN D 0)
N &S ¢ v

What is meant by strict inequalities? Sesl o mnle Fos2 (i)

Solve the equation: XT_3—X—;2=—1 XT_?’—XT_2=—1 :g_f(k’_ugd"gouu (iii)

Define Cartesian plane.

“E st R (1)
If C=§(F—32°) and F =176° then find C. & CIF=176° ulng(F—SZ")ﬁ W)
_E el Augl. (Vi)

A(2,-6),B(3,-6) 35("")55&9//%»;&3:.2_&!(;,&4;@ (V“)

Define isosceles triangle.
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Find the mid-point of the line segment joining the pair of points: A(2,-6),B(3,-6)
What is meant by (S.5.5=S.S.S)? fei e PP S2S S (Vi)
Find the value of unknown ‘m’ for the given congruent triangles. -“é(kﬁlﬁdﬂw—ur#”tc;u?ﬁ’ Jeds (X

A

e

L1
B 5m—3D2m+6 ©C

12 Solve any SIX parts of the following. -g{d’;mé;éf -3
Use factorization to find the square root of the expression: 4x? —12x+9 :“épbfd Ao §F 20k (i)
Solve the inequality: 4x—10.3<21x—1.8 4x-103<21x-1.8 :ZEFSenl g (ii)
Define strict inequalities. o el Frez (i)
Write the given equation in the form of y=mx+c: 2-3x+y=0 29t FJy=mx relen-ds (V)
Define collinear points. EfGEsa (V)
Find the distance between the pair of points: A(3,-11),B(3,—4) i bl n lunnl e (Vi)
Define equilateral triangle. oy Jlelbengls  (vid)
What is meant by A.S.A=A.S.A? e p e i fizifos (Vili)

e 5 SUL L 1 130° b LIS L] (ix)
If one angle of parallelogram is 130°, find the measures of its remaining angles?

12 Solve any SIX parts of the following. ESund S .

Find H.C.F. by factorization: X2 +5x+6 , x> —4x-12 :érk*df,“,ggr”’u;u 0)

Solve the equation: 2y Lyx+l 2y Lyx4l AT GO TR (1)
3 2 6 3 2 6

Define absolute value. EATY NI N (11)

2x+3y-1=0 :“é(}*ﬂj‘f‘fc sm el Sty =mx e Senadeg (V)
Find the value of m and c of the given line by expressing it in the formy=mx+c: 2x+3y—-1=0
Define abscissa and ordinate. LEy S lesiTaan (V)
A(-81),B(61) &t 1l sbis e Lusua s (V1)
Find the mid-point of the line segment joining the pair of points: A(-8,1),B(6,1)
Define isosceles triangle. _“é__;u}qu?uud,u (vii)
State S.A.S postulate. S ¥ P F (Vi)

et e L o {03 g FEs (X
The given figure LMNP is a parallelogram. Find the value of m, n.

12 Solve any SIX parts of the following. -g{d’;mé;&( 3
Find the H.C.F.: 102xy’z , 85x%yz , 187xyz’ 102xy°z , 85x°yz , 187xyz’ :ﬁir)vf(ﬁjugu 0]
Solve the equation: 2v/t+4 =5 2Jt+4=5 ZfSen (i)
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1 2 1 1 2 1
Solve =x—=<x+=, where R R) £ fyox—S<x+= iii
Ve oX-ZSX+3.W (xeR) (xeR) £&S 5% 73 3 (iii)

25) WLl 2x—y+1=0 Ly zEds (V)
Verify whether the point (2,5) lies on the line 2x—y+1=0 or not.

Define Cartesian plane. “E st K (V)
Find the distance between the pair of points: A(2,-6),B(3,-6) :“ér,kv,wuyﬂziu,imim (vi)

A(4,9),B(-4,-3) w150 sbis sic s e Lo (Vi)
Find the mid-point of the line segment joining the pair of points: A(-4,9),B(—4,-3)

Define congruent triangles. ?Lg,;/gf;u}ﬁ’fw (viii)
If APQR =AABC, then find the unknowns. s S 03 (ax + 3y —2) S (iX)
12 Solve any SIX parts of the following. -g‘)’;méag}f -3
Use factorization to find the square root: 4x°—12xy +9y* AX? —12xy +9Y° e B i ik (i)
Solve the equation: zx—1x=x+% %x—%x:x+% e fhenle (i)
Solve for x: [2x+5|=11 |2x+5=11 :gpbrerfhan. (i)

2x+3y—1=0 gk U am Ll S buty =mx+cseneduag (V)
Find the value of m and c of the given line by expressing it in the formy =mx+c: 2x+3y—-1=0
(-11) vl 2x—y+1=0 Lo S Zds (V)
Verify whether the point (—1,1) lies on the line 2x—y+1=0 or not.

Define right angle triangle. gy ekt (Vi)
Find the distance between the pair of points: A(-8,1),B(6,1) i e b n Lzl be (Vi)
What is meant by H.S=H.S? ?‘a,;/t[f.c“-}, =&z, (viii)
Find the value of unknownm’ and x° . _Ep B EX0m® ey (iX)
Z # —
752 o x4 )°
12 Solve any SIX parts of the following. -Q{J’;mé;éf 3
Find the H.C.F.: 102xy°z , 85x°yz , 187xyz’ 102xy°z , 85x°yz , 187xyz’ :g{pl’f‘(ﬁ’u;u (i)
Solve the equation: 2t+4 =+t—-1 V2tea=t-1 :ZFSen- (i)
Define linear inequality. _Ey el FGak (i)

X—2y=-2 :g.frkfufg‘fc sim el Sy =mx+c Senldng (V)
Find the value of m and c of the given line by expressing it in the formy=mx+c:x—-2y=-2
0,0) FLliy2x—y+1=0 L sy zdys V)
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Verify whether the point (0,0) lies on the line 2x —y+1=0 or not.

A(-81),B(6,1) & 10 mbis e Lusuiales (V1)
Find the mid-point of the line segment joining the pair of points: A(-8,1),B(6,1)

Define equilateral triangle. o ek (vii)
What is meant by S.5.5=S.S.S? fei e PP S2S S (Vi)
Find the unknowns x° and n° in the given figure. S x® et E TS (IX)
m° n°
R 7>

12 Solve any SIX parts of the following. ZSund S -

Find the H.C.F.: 102xy®*z , 85x°yz , 187xyz? 102xy?z , 85x%yz , 187xyz? :“ér}’”(”l;u (i)
Solve the equation: %X—X—;Z:% %—%:% ZE S e (i)
Define linear equation. oy g (i)
Draw the point on the graph paper: (4,-5) ;g (-6.4) (-6,4) , (4,-5) &by AL (iv)
Define Cartesian Plane. Ea st K (V)
Find the distance between the pair of points: A(—4,2),B(—4,-3) i el Ll s lunnle (Vi)
Define scalene triangle. Sy el (Vi)
What is meant by S.5.5=S.S.S? fei Ve PP S2SSs (Vi)
Find the unknowns in the given figure. -;;f(kowu/n‘) M ey® e x° ()’ftu:fﬁj; (ix)

7o # s

12 Solve any SIX parts of the following. -;;J’;l'/.léc.éf -3
Use factorization to find the square root of the expression:  4x*-12x +9 NS YIRS T (i)
Define linear equation. _”é,y}uﬁ;uu&u.{ (i)
Solve the inequality: 4x—-10.3<21x-1.8 4x-103<21x-1.8 :Z FienlF  (iii)
Define ordered pair. Ew Sl (V)
Draw the point on the graph paper: (4,-5) 4,-5) :Z b pn Ll (V)

u(0,2), V(-3,0) :é()’”,#ﬁuyuéuﬁ}?ibﬁéé_;c;u JU:"A?,L‘U (vi)
Using the distance formula, find the distance between the points: U(0,2), V(-3,0)

What us parallelogram? ?LL&}’Z&( Cwegas (vii)
What do you mean by congruency of triangles? ?4‘_»/&(@:}&'@}‘5’ (viii)
In the given parallelogram, find the value of m. _“éplv m Sewngi#Gs  (iX)
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%
10
A
. 8m—-4n M
12 Solve any SIX parts of the following. -gid’;lméc.éf -3
Use factorization to find the square root of the expression:  4x* —-12x+9 :gr,wa A $ 7 20k Q)
What is meant by strict inequalities? Sesl s Uile Fbs2 (i)
Solve for x: [3x —5/=4 Bx—5=4 :ZEekrerFean (i)
Draw the point on the graph paper: (-6,4) (-6,4) & by pauf fbl?v’éi%; (iv)
If F=§C+32° and C =50° then find F. _;érkfmc::soup:gcnsz% W)
Find the mid-point between the pair of points: (-5,-7),(-7,-5) e b0 KUz b (Vi)
Find the distance between the pair of points: A(-8,1),B(6,1) i e Ll s Zunl e (Vi)

Find the value of unknown m for the given congruent triangles. _épl’ﬁuﬁfd/m (}‘”L’cur‘f’fu’fd; (viii)

o
Define parallelogram. _Ew S (iX)
12 Solve any SIX parts of the following. -{;J’;l'/.léc.éf -

Find the H.C.F.: 39x'y’z , 91x°y°z’ 39x'y’z , 91x°y°z’ :ér}lvﬁ" 2k (i)
Solve the equation; \3x+4 =2 Bx+4=2 :ZfSente (i)
Define linear equation. _Ey el gl (i)
Define Cartesian Plane. E stk (iv)

2x+3y—-1=0 :”ép"”gfggfc 2m ,«:JLL//;U;J y=mx-+c /;,ut,»énd; (v)
Find the value of m and c of the given line by expressing it in the formy=mx+c: 2x+3y-1=0

Write distance formula between two points. -éur/w,lxtsuyuéwn (vi)
A(2,-6),B(3,6) b sl s e L uwsuna e (Vi)
Find the mid-point of the line segment joining the pair of points: A(2,-6),B(3,-6)

Define congruent triangles. -"é.g}u(uelﬁ»fw (viii)

In given parallelogram find value of x°andy’. -;é(k*ufufy" SX° s (i)

12 Solve any SIX parts of the following. -Q{J’;mé;éf 3

Find H.C.F. by factorization: X?+5x+6 , x*—4x-12 :”ér,bfdf,".g/;ﬁ"uu (i)

Solve the equation: X x=2. % X_x-2_25 ZE S e (i)
2 3 6 2 3 6

Solve the equation: 2y/t+4 =5 2Jt+4=5 ZfSen (i)

A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 27



The Hope Super Guess Paper Classs 9th

2X=y+3 gﬁrk’uf‘fgfc 2l m ML&.///:U:U.‘.' y=mx+cC fc«bt»*énu@ (iv)
Find the value of m and c of the given line by expressing it in the formy=mx+c:2x=y+3

Define Cartesian plane. Ea st K (V)
Define coordinate geometry. ey SSxpaisid (Vi)
Find the distance between the pair of points: A(2,-6),B(3,-6) i e Ll s Zun e (Vi)
Define parallelogram. o A (viii)

e SN m e L L LMNP PGS (X)
The given figure LMNP is a parallelogram. Find the value of m, n.

=S e T L=

12 Solve any SIX parts of the following. -{;J’;l'/.léc.éf -

Find H.C.F. by factorization: X2 +5X+6 , X2 —4x—12 e ne ()

Solve the equation: X _x2. % X _x=2_ 25 ZE S Sene (i)
2 3 6 2 3 6

Solve the equation: 2y/t+4 =5 2Jt+4=5 L FSen (i)

2X=y+3 “ér}’”u.‘:gJC 2lm ML&.//:Uau: y=mX+¢C /&bl/énu’) (iv)
Find the value of m and c of the given line by expressing it in the formy=mx+c:2x=y+3

Define Cartesian plane. Ea st K (V)
Define coordinate geometry. _Ey P rasstd (Vi)
Find the distance between the pair of points: A(2,-6),B(3,-6) ;”ér,b»ysuy,,gu,;ggwj (vii)
Define parallelogram. oy sz (viii)

e S0 m e L L LMNP PGS (1X)
The given figure LMNP is a parallelogram. Find the value of m, n.

12 Solve any SIX parts of the following. -Q{J’;mé;éf A4
If the given triangle ABC is =BT X0 e it A o AD Uk ABC AP A )

equilateral triangle and AD is bisector of angle A, then find the values of unknown x° andz° .
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12 Solve any SIX parts of the following. -Q{prlZléﬁ,é/ -3
= r}l"’ (g;' )b

Find the H.C.F.: 102xy°z , 85x%yz , 187xyz’ - 0]
102xy°z , 85x°yz , 187xyz’

Define equivalent equations. _E o AEUiaa 2 (i)

Solve for x: [2x+5/=11 2x+5[=11 ek arfhanle (i)

What is difference between abscissa and ordinate? S Ve Ty (1V)
9 _ (P 32 C°=10° s F-dcoise A

If F°==C°+32°and C° =10°then find F°. 5 (v)
> £

Find the mid-point between two points: . A .

A(—8,1) , B(6,1) P P A(—8,1) , B(G,l) “é()l’”ﬁdy/} KL (Vl)
. . . . Lol s £ Ussir £ b

Find the distance between the pair of points: (0,0),(-4,-3) (A e = o (vii)

What is meant by S.A.S=S.A.S? fest e P Sz faf (Vi)

Find the values of m°andy®. -grwuﬁJy° #m®  (iX)

7o t o
759-. S-* SRganiyd

ot Ul S ekt fi2em, 4om, 7em oy (1)
Lengths 2cm,4cm,7cm are not lengths of a triangle. Give reason.
Define similar triangles. oy e s (i)
a=9cm, b=12cm, c=15cm :Lad,mmw,f;égﬁ-w%,uw&w;L.w (iv)
Verify that the Ashaving the given measures of sides are right-angled: a=9cm, b=12cm, c=15cm

Define converse of Pythagoras theorem. _“é&j,w? 4. .witﬁg’.l:»f (V)
Define triangular region. _“é__;u/J,}/Gﬁ” (vi)
Find the area of the given figure: :é(PJ/Kﬁfd; (vii)
4 cm
Construct a AXYZ, in which: ms/X=90° , mXY =6.1cm, mYZ=7.6cm AU el AXYZ (Vi)
Define centroid. _Ew G S, (iX)
12 Solve any SIX parts of the following. Efand (S 4
Define right bisector of a line segment. _E o L (i)

_t U UL S £ et 20m, 3em, 5em St o (i)
Give reason why 2cm,3cm,5cmare not the sides of triangle?

Define similar triangles. oy Sl s (i)
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Define Pythagoras theorem. o Slese e (V)
Find the value of unknown x in the given figure: :é/(kfufg{x (}Vtui‘dﬁéfd; (v)
10 cm
6cm
X
Define interior of triangle. oy G akads (Vi)
Find the area of the given figure: :"é(kf,}/{ffd; (vii)
8 cm
ZE
Define incentre of the triangle. oy S plesit] 1 F ki (Vi)
Construct a AABC, in which: m/B=60° , mBC=3.7cm, mAB =4.8cm e taABC  (iX)
12 Solve any SIX parts of the following. -{;J’;l'/.léc.éf 4
If the given triangle ABC is ST X° e ol A s AD Ut ABC LTS (i)

equilateral triangle and AD is bisector of angle A, then find the values of unknown x° andz° .

e bt QU o oA IS Lk S E FuP 30 8em s 6om A0cm pd Seusi L ke g (1)
If 10 cm, 6 cm and 8 cm are the lengths of a triangle, then verify that sum of measures of two sides
of a triangle is greater than the third side.

Define ratio. _Ey e (i)

State the converse of Pythagoras theorem. -”éuy,;/f&j,l?f (iv)
12 13

Find the unknown value in the given figure: x =§r’1”1'ﬁfﬂ’”t‘uﬁfﬁfd} (v)

Define area of a figure. E Sl fs i)

_”é(}#éibg?n 6cm J@JJJlft-+lScm2 J/Kfﬁ”y,@ (vii)
Area of a rectangular figure is 18cm?. If length is6cm . Find its width.

Define orthocentre. _E IS 5t (vili)
Construct a AABC, in which:  mCA=5.2cm, mBC=4.2cm, mAB=3.2cm e taABC  (iX)
12 Solve any SIX parts of the following. Efand (S 4
Define concurrent lines. EaSF s ()
Define proportion. gl (i)

_uguﬁ’ugwgfwu/&m »13cm<2cm féat‘;&; (iii)
2cm, 3cm and 5¢cm are not lengths of a triangle. Give reason.
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State Pythagoras theorem. _FEokesE e (V)

a=16cm, b=30cm, c=34cm :‘L,,rﬂnww,ﬁé@ﬁ_w@,uwJamuz:.w'» (v)
Verify that the As having the given measures of sides are right-angled: a=16cm, b=30cm, c=34cm

Define area of a figure. E Sl fs i)
3cm

Find the area of the given figure: 6 cm =§r*’~?/w¢&3@ (vii)

Define centroid of the triangle. _Ey JSuS L ek (Vi)

Construct a AABC, in which: mzB=60° , mBC=3.7cm, mAB =4.8cm S etAABC  (iX)

12 Solve any SIX parts of the following. -{;:J’ylméc_éf 4

-"ér}"" mLB s mAL 7 mAB =6cm /'f!-‘LJ‘L’d»ngB L},x-‘;’.ﬁ uf(){;(fd) (i)
CD is right bisector of the line segment AB. If mAB =6cm, then find the mALand mLB.

?Jnl//u,&» Jé.;l)g/.:;un 90° .4 60° d,}l)»é:&ﬁ’*ﬁ (ii)
If two angles of a triangle are 60°and 90°, then what will be the value of third angle?

P — AD _ i
£ §US AE 72 mAC = 4.8cm s ’:13_2 =§ JDEBC ABCes D
. mAD 3 — o —

In triangle ABC, DEUBC. If DB &5 and mAC =4.8cm, then find mAE .
Define ratio. FE gl (iv)
Find the value of unknown x in the given figure: :“é(kfg,é&l‘nr)#w:ffd, (V)
Define interior of a triangle. Ey Sl nl et (Vi)
Define area of a figure. ESSnLfs (i)

e 520U B L P e e A g s g (Vi)
Construct a right angled isosceles triangle whose hypotenuse is 5.2 cm long.

Construct a AABC, in which:; mCA =5.2cm, mBC=4.2cm, mAB=3.2cm Ak (-1 (iX)
12 Solve any SIX parts of the following. Efand (S 4

e M X e LNO s LMo wee S g ()
In the given congruent triangles LMO and LNO, find the unknowns x and m.
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L

2x+6

M N

m O 12
ool ot WS £ ekttt = 0 e ax2 ()
3 cm, 4cm and 7 cm are not the lengths of the triangle. Give the reason.

Define similar triangles. Sy Sl e (i)
Find the value of unknown x in the given figure: :é/(kfc,éd/y (}Vtui‘dﬁéfd; (iv)

C =. = D> Bt SEIIudbultmles V)
Verify that the Ashaving the given measures of sides are right-angled: a=9cm, b=12cm, c=15cm

Define interior of a triangle. Ey Sl et (Vi)
Find the area of the given figure: :“ér)v,}/(ﬁfd; (vii)
Define Circumcentre of the triangle. _E IS e Ldi (Vi)
Construct a AXYZ, in which: m/X=90° , mXY =6.1cm, mYZ =7.6cm S e k(1) (iX)
12 Solve any SIX parts of the following. _;;J’Miéc.éf 4

e dm X e LNO s LMO wet S ()
In the given congruent triangles LMO and LNO, find the unknowns x and m.
L

2x+6

M N

m O 12

(S QU 4 L aleus dem . 3em U Ewsin L et i (1)
If 3 cm and 4 cm are lengths of two sides of a right angle triangle, then what should be the third length of the
triangle?

Define congruent triangles. _Ew S S (i)
??é.kg@axugw,,;juﬁscudéédJJx 17 X 8 o AL £ ke L (iv)

The three sides of a triangle are of measure 8, x and 17 respectively. For what value of x will it become base
of a right angled triangle?

a=5cm, b=12cm, c=13cm :§.d,uﬂ|;isw,fé&ﬁ<wéﬁd;uguJLM1Lw v)
Verify that the As having the given measures of sides are right-angled: a=5cm, b=12cm, c=13cm

Define altitude of triangle. E St Lek (Vi)
Find the area of the given figure: :gf(kf,}%féfd) (vii)
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4 om

Construct a AABC, inwhich:  mZA=45° , mAC=3.2cm, mAB=3cm (S22 L AABC (Vi)
Define centroid. _Ew ST, (iX)
12 Solve any SIX parts of the following. -{;':J’plméa_&:( 4
Define angle bisector. ol ()

St oK1 5 F AL U1 e o tdtlie e L e B sl ()
What will be the angle for shortest distance from an outside point to the line?

Define similar triangles. Sl pfe e e (i)

Define Pythagoras theorem. _FE e (V)

Define triangular region. ?9,u/g¢3w&& (v)

Define centroid of a triangle. E Sl (Vi)

Find the value of unknown x in the given figure: AT O {5 (Ptu:f&@ (vii)
6em 10 cm

Find the area of the given figure:

ek SKPES (Vi)

) X
) 8 cm
E

Construct a AABC, in which: mCA=3.6cm, mBC=3.9cm, mAB=4.2cm (S AABC  (iX)
12 Solve any SIX parts of the following. ESund (S 4
Define angle bisector. o flonl o (i)

?‘at"tw.d}i/'{/!ﬁf(};( AL 1ds Bt e b e 2o kil el ()
What will be the angle for shortest distance from an outside point to the line?

Define similar triangles. Cesl pfe e e (i)
Define Pythagoras theorem. _E fefe e (V)
Define triangular region. ?‘L»/L,Q«.wa” (v)
Define centroid of a triangle. E Sl (Vi)
Find the value of unknown x in the given figure: :g‘_f(kfuﬁ{x pi"tutg}@fu’; (vii)

10 cm

6 cm

X

Find the area of the given figure: :“érk'g/(ffd; (viin)
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8 cm

E
Construct a AABC, in which: mCA=3.6cm, mBC=3.9cm, mAB=4.2cm S e AABC  (iX)
12 Solve any SIX parts of the following. ZSuns (S 4

If the given triangle ABC is -”’érk*ufo/z" #X° #2_e aetE A sl AD Ut ABC Sl LU Sl TS (i)
equilateral triangle and AD is bisector of angle A, then find the values of unknown x° andz°.

-Lgmzr_émfézgfbifKu{pJCwu;;éw/“éQﬁ?un 1-1 511 ¢(-1,-1) ugUJCWleugﬁ (ii)
If 10 cm, 6 cm and 8 cm are the lengths of a triangle, then verify that sum of measures of two sides
of a triangle is greater than the third side.
-é(}h”&gd/: il _‘awdguwﬁlﬁug —> uﬁf&@ (iii)
In isosceles APQR shown in the figure, find the value of x and y.

WL ronlb i 2607 L Led S = il = Aot Ze g (V)
The three sides of a triangle are of measure 8, x and 17 respectively. For what value of x will it
become base of a right angled triangle?

%L:"ﬂ'stf.é&ﬁ-u:ffd)ugw%wLw (v)
Verify that the Ashaving the given measures of sides are right-angled: a=9cm, b=12cm, c=15cm

Define altitude of a triangle. E el (Vi)
Find the area of the given figure: :érP;/Kﬁfd; (vii)
Construct a AXYZ, in which: m£Z=90° , mZX =4.5cm , mXY =5.5cm e boe=_ (Vi)
Define incentre of a triangle. _E PSS pln] el (iX)
12 Solve any SIX parts of the following. -;;J’;l'/.léc.éf 4

kS m X g LNO i MO et f i ()

In the given congruent triangles LMO and LNO, find the unknowns x and m.
L

2x+6,

N

a5 g ewa g ()

2cm, 3cm and 5¢cm are not lengths of a triangle. Give reason.

m 0O 12
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Define ratio. Ew e (i)
State converse of Pythagoras theorem. _“éug@/iﬁg‘,lf»f (iv)
Define interior of a rectangle. E S Lanl )

a=5cm, b=12cm, c=13cm :9,,uﬂ|JGw,f§Qﬁ-wéfd;ugwJCML@L‘» (vi)
Verify that the Ashaving the given measures of sides are right-angled: a=5cm, b=12cm, c=13cm

Find the area of the given figure: :“é()#,}/t{dﬁé@; (vii)
8 cm
4 cm ;
Define incentre of the triangle. _E o S DS o Ledi (Vi)
Construct a AXYZ, in which: mZY =90° , mYZ =2.4cm, mZX =6.4cm St AXYZ (i)
12 Solve any SIX parts of the following. -{;J’;l'/.léc.éf 4
What is meant by bisection of an angle? Cesl . r_bﬁ:""J,,u‘f( Q)

-éy&:c&;-djujugud/@ﬂ)léc&ﬁ{%cm s14cm «3cm (“)
3 cm, 4cm and 7 cm are not the lengths of the triangle. Give the reason.

Define congruent triangles. -né._y}‘fuelﬁqfw (iii)
Find the value of unknown x in the given figure: :;érkfoé&x ()’ftutfﬁfd; (iv)

A
1 cm

a=5cm, b=12cm, c=13cm :LL,,M;fcw,f"ég}jﬁ-uj&@;ugyJCMLw (v)
Verify that the Ashaving the given measures of sides are right-angled: a=5cm, b=12cm, c=13cm

Define rectangular region. _“é._;u}Jg/Jzy‘/ (vi)
Find the area of the given figure: :érP;/Kﬁfd; (vii)
3cm
6 cm
Construct a AABC, in which: mZA =45, mAC=3.2cm, mAB=3cm (AU AABC  (Vili)
Define incentre. _E S ket (iX)
12 Solve any SIX parts of the following. ESund (S 4

£+ mAD JxmBD =dom Ji_c et ¥ AB 4 CD Lt f s ()
CDis right bisector of the line segment AB. If mBD =4cm , then find mAD .

4 VAo £ ki 150m sl 10em < 5em S 2tz 25 (i)
Give reason why 5cm, 10cm, 15cm are not the sides of triangle.
-3 EMLN JxmLQ =2.3cm s mLP = 2.5cm «mLM =5¢m Ji_e- MNOPQ U LMN w2 5 (iii)
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In triangle LMN shown in the figure, MNOPQ . If mLM =5cm, mLP =2.5cmand mLQ=2.3cm, then
findmLN .

P Q
M N
Find the value of unknown x in the given figure: :é}#;&{x (}Vtui‘d%fd, (iv)
A

cm
Define Pythagoras theorem. E St e (V)
Find the area of the given figure: :;f(kf,}/{ffd; (vi)

18cm
What are congruent area axiom? &5 dreisud S (Vi)
Construct a AABC, in which: mCA =5.2cm, mBC =4.2cm, mAB=3.2cm \AUT e AABC  (Vili)
Define similar triangles. _Ey Sl (iX)
12 Solve any SIX parts of the following. ESunde (S 4
What is meant by angle? Sl pf e ol Q)

Sl QST 4 L aleiys dom o 3em UL SEben £ et s tnss s /i (1)
If 3 cm and 4 cm are lengths of two sides of a right angle triangle, then what should be the third
length of the triangle?

What is meant by proportion? Cesl et (i)
Find the value of unknown x in the given figure: AT O {5 (}#tu:gﬁé@) (iv)
x 13 cm
S5cm
Write down the converse of Pythagoras theorem. BEYy O yf (v)
What is meant by rectangular region? Sl ;Jszy‘/ (vi)
Find the area of the given figure: :;éryb'g“/(ffd; (vii)
4 cm
Define median of a triangle. _E I e Lk (Vi)
Construct a AABC, in which: mZA =45 , mAC=3.2cm, mAB =3cm iz tAABC  (iX)
12 Solve any SIX parts of the following. Efand (S 4
Define right bisector of a line segment. _E S Lt (i)
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S £ s 3em, dcm,5em Sz .s (1)
Verify that 3cm,4cm,5cmare lengths of the sides of a triangle.

Define proportion. ATy A (1))
Find the value of  : e iix (V)

A
1cm

a=15cm, b=2cm, C=25em i g Hefbals SEFud pioltmlet: (V)
Verify that the As having the given measures of sides are right-angled: a=1.5cm, b=2cm, c=2.5cm

Define altitude of a triangle. LS ALk (Vi)
Find the area: (e 3, (vii)
10
16 cm
Define orthocenter of the triangle. _E ST o Leki (Vi)
Construct a AABC, in which: mCA=5.2cm, mBC=4.2cm, mAB=3.2cm i SetaABC  (iX)
12 Solve any SIX parts of the following. ESunde (S 4
Define bisector of an angle. o flolow (i)

_uguguJCuzuLwJ(3cm,4cm,50m SEGS (ii)
Verify that 3cm,4cm,5cmare lengths of the sides of a triangle.

Define congruent triangles. _g;_,g}Juef»fu» (iii)
Find the value of unknown x in the given figure: :“é(k”g,é&x ()*’tuﬁdﬁfd; (iv)
x| \l3em
5cm

a=16cm, b=30cm, c=34cm :%,,uﬂww,f"éqﬁa-ug{wwJw;Lw (v)
Verify that the As having the given measures of sides are right-angled: a=16cm, b=30cm, c=34cm

Define interior of a triangle. EySnled (Vi)
Find the area of the given figure: :éi»/rk*g/{ﬁfd; (vii)
8 cm
4 cm ;
Define incentre of the triangle. _E oy SN s Cedi (Vi)
Construct a AXYZ, in which: m2Y =90° , mYZ =2.4cm , mZX =6.4cm (S AXYZ  (iX)
12 Solve any SIX parts of the following. ‘;;/J’;méa.éf A4
Define concurrent lines. ,“éuyfdl#ﬁﬁ 0]
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<§f§yu;;df;<uju:7ugwd/&uz1£w5(7cm »l4dcm <3cm (i)

3 cm, 4cm and 7 cm are not the lengths of the triangle. Give the reason.
et QU5 S DEF &l ABC bty (111)

When are two triangles, triangle ABC and triangle DEF called similar?
Find the value of unknown x in the given figure: :é}kﬁgx}g{x ()#tu:ﬁfd, (iv)

4 cm|

cm

a=15cm,b=2cm,c=25cm :9,,uﬂuﬁcw,féﬁﬁ-wéfd;ugwJCML@L‘» (v)
Verify that the As having the given measures of sides are right-angled: a=1.5cm, b=2cm, c=2.5cm

Define triangular region. -é.;vﬂ,(,}/éb (vi)

Find the area of the given figure: :;é&*g;(f&@ (vii)
4 cm

Define centroid of the triangle. _Ey JUCa S pEats (Vi)

Construct a AABC, in which: mZA =45, mAC=3.2cm, mAB=3cm i eAaABC (i)

- 9/J!r-u§/1208Ldlr/;_:éfawrufcéf‘ PREIEN
Part — 11, Solve any THREE questions. Each question carries 08 marks. Q. 9 is compulsory.

04 K= L e Sl LA s (DS
5x -2y =-10
. . . , 3X-2y=-6
Solve the given system of linear equations by Cramer’s rule:
5x -2y =-10

n 5 4n-1
04 Use laws of exponents to simplify: &2 *3 —(3) © (243)

:“é/";‘;mfufuiéuai (_,)

(9")(3)
. _ 1.23)(0.6975) . 5

Use log tables to find the value of: (1.23)(0.6975) .5 . / :
04 g 0.0075)0278) e ede ol KD (L) -6
04 |fq=J§+2,findq2+qi2 -"ér#uﬂ!q%q—lzinq:ﬁﬂﬁ ()
04 23 +x2—2x—1 :ZEUASLE FCnt L e a7 () T

Factorize the given cubic polynomial by factor theorem: 2x*+x*—-2x-1
04 X' +x3-2x2+x-3, 5x*+3x* -17x +6 :“é()*’(}"’l;u(:y,g/}, ()

Find the H.C.F. by division method: x*+x*-2x*+x-3, 5x>+3x* ~17x+6
04 Solve for x: [x+2|—-3=5-|x+2| x+2|-3=5-|x+2| :ZeirirfEanle () 8
04 Construct aAABC. Draw the bisectors of its angles: :gr..aﬂtéug,uiw_;b. AABC (&)
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08

04

04

04
04

04

04

04

04

08

04

04

04
04

mCA =5.2cm , mBC =3.1cm, mAB = 4.5¢cm

_‘Lt‘M.Jv’UJiu’;l/a,ufu'ggcu’iﬂv@ﬂ@dﬂi%ﬂ]&rfé&f‘
Prove that any point on the bisector of an angle is equidistant from its arms.
--OR-- __|—-

_ugf}n/,u,utjjdgéu@Muud;u?du&tﬁn/,umdu/?u,,wt?/,u.f“é_v,t‘
Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

4X+y:95 :“é(,bfﬁu/y/nx;mfuﬁ*éuis ()

—3X _ y — _
. . . - . dx+y=9
Solve the given linear equations by the matrix inversion method: 3 .
— X_y —
Solve the given equation for real x and y: (3+4i)> —2(x —yi) =x+Yi ESAY X Seblr ()
3 .,
Use log tables to find the value of: % ‘8?;056 :“ér,lvbwf .4 Jw(’ £ ()

e d M 40 +p° S mn 4+ np+mp = 27 s m+n+p=107 ()
If m+n+p=10and mn-+np+mp=27, then find the value of m?+n®+p>.
3 —x?-12x +4 :"édffJ&&’/}(&nuffg;Lquff%‘ ()
Factorize the given cubic polynomial by factor theorem: 3x®—x*-12x+4
-£lggwj/‘}‘(f4x4 —12x° +37x* —42x + k :,Lﬁ“é(}”.wfd/k o)
Find the value of k for which the expression 4x* —12x* +37x* —42x +k will become a perfect

square.

3-5x 12

1 2 3-5x oo (el
-—== Z=2 gekre = hsls :
373 ‘4 373 & erfhane (L)
Construct a triangle PQR. Draw its altitudes: :g”(w,m/ LU tPQR &> (Q)
MR =45° , mQR =3.9cm, mPQ =4.5¢cm
_wz.nﬁﬁ_aﬂtd»f&wzléwgf(fgfat‘
Prove that the right bisectors of the sides of a triangle are concurrent.
-OR-- __|_-

-d/u;f/,l/,uﬁ,}'mu;a/,l/f/@/!Lumlu;fzgu/rmﬁ'dvgﬁyﬁlf“émt‘

Prove that triangles on the same base and of the same (i.e., equal) altitudes are equal in area.

Solve for x: ‘

2x—-2y=4 . . ,
X—<y :éfc;bcJJ:QLUX‘G':Q_/"KLU}’UV/{{LMd/u;.JG' )
—-bx-2y=-10 ~
: . . - . 2X -2y =4
Use matrices to solve the system of linear equations by matrix inversion method: . 10
—DX — y —

a a+b b b+c ¢ \c+a a a+b b b+c ¢ \c+a
Show that: (X—bj X (X—CJ X (X—aj =1 (X—bj X {X—CJ X (X—aj =1 E et (L)
X X X X X X )

0.678x9.01 R . ’
00234 :él')”*‘fé—utfduy//w ()

_“é(}".wfd/mz+n2+p2?nmn+np+mp:27mm+n+p:10fl ()

Use log tables to find the value of:

If m+n+p=10and mn+np+mp=27, then find the value of m*+n*+p°.

-9

-5

-6

7

-8

-9

5

-6
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04

04

04
04

08

04

04

04
04

04

04

04
04

08

04

04

?Kg/(:jugugfp(x) =4 T +6x-3m $ x4+ 2L Led S Em Sk (L)
For what value of m is the polynomial p(x)=4x®-7x*+6x —3m exactly divisible by x+2?

X2

2 o
F—lO§+27—10¥+%,(x¢0,y¢0) Lol e g O
X2

2
Use division method to find the square root: F_lo§+ 27—10%+%, (x=0,y=0)

2 1 1
3x+6 6 2x+4’
mCA =5.2cm, mBC =6cm , mAB =4.2cm :éf(__ﬁftcﬁug;uziw-’%lz AABC (o)
Construct a AABC . Draw the bisectors of its angles:
mCA =5.2cm, mBC =6cm , mAB =4.2cm
%n(‘_’:u/?__ﬁftd;fLb;ﬁmu?nkw'd}u;u;/Lb;ﬁu’/}}?u{!ﬁfﬁqv
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
-OR-- __|—-
_Ju;¢4l/,uﬁ¢3'/p;un/,i4f/@/iLululungiﬁéoﬂﬁ'dug}?w.w&lfé&b‘
Prove that triangles on the same base and of the same (i.e., equal) altitudes are equal in area.

Solve by using the Cramer’s rule: xty=9 xty=9 ZE S enalbuds LA (L
-3Xx-y=-5 -3x-y=-5

a a+b b b+c ¢ \c+a a a+b b b+c ¢ \c+a
Show that: (X—bj x(x—cj x(x—aj =1 (X—bJ X(X—cj x(x—aj =1t ()
X X X X X X g
Use log tables to find the value of: $/2.709 x {/1.239 EAT PPN J. Jw(;’ K9 ()
_Ee Xy rzinxy+yz+2x =59 s X’ +y* +2° =781 (O
If x*+y®+2z°=78and xy+yz+zx =59, then find the value of x+y+z.
A — A A0 et L e sali e (L)
Factorize the given cubic polynomial by factor theorem: - —— L
Use division method to find the square root: —®—- —— A :gj_f(kf&/myff”,g/; ()
3-5x| 1 2 3-5x| 1 2 g ¢
=== —Z=2 i gZees sl ;
373 ‘4 373 & erfhane (L)
: EoneF Ll et || el ()
Construct a triangle ABC. Draw the perpendicular bisectors of its sides:
m/B=60°, m/A=30°, mBC=29cm
_wanﬁﬁwtiu#uuféwﬁ SE et
Prove that the bisectors of the angles of a triangle are concurrent.
-OR--  __|
_ujﬁn/,;/,u:}/d@r&Murdﬂ;’du&ﬁ/uum5u4umb“/,|/,f§_~f.t‘
Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

3x—4y=4 ) '
X+2y—8 EFesnluFLuds ()

o {(216)%x(25)% f(216)% x(25)% -

Solve the equation: X #—2 i el Flenle (L)

Solve for x:

Solve by using the matrix inversion method:

7

-8

9

5

-6

-7

-8

-9

S5
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04
04

04

04

04
04

08

04

04

04

04
04

04
04

04

08

04

3 , o
Use log tables to find the value of: % :g!rk*.wfc;uu(dw/ K4 ()
_Ee e d Oy I xy =12 mix+y =70 (O
If x+y=7and xy=12, then find the value of x®+y?.

S g p(x) = A —TxE +6x—3m G & x+ 2L Led Em Sk (L)
For what value of m is the polynomial p(x) =4x®—7x*+6x —3m exactly divisible by x+27?
L8 29X 0 4109 + X —m P e dSunEm sl (D)

Find the values of ¢ and m for which the expression 49x* —70x® +109x” + ¢x —m will become
a perfect square.

Solve for x: |x+2|-3=5-|x+2| x+2|-3=5-|x+2| :ZEprsrerfrenle (L)
:;éQMJLnﬁ(?Lg;/,'éfwtéuguéuu;uAABC ()
Construct a AABC . Draw the bisectors of its angles and verify their concurrency:
mCA =5.2cm, mBC =6¢cm , mAB =4.2¢cm
‘KMJ»"UJId;l/cu;/di)z}',xﬁﬁu;néb/?dftd:/Lb}gu((ﬁugﬁfécf.t‘
Prove that any point on the right bisector of a line segment is equidistant from its end points.
-OR-- _{|—-
-Jun/,l/,u’ﬁjmu,‘ul/j/@/m!;ﬁ@égf@w&'f”écf.t"
Prove that triangles on equal bases and of equal altitudes are equal in area.

2X+y=3 ) R . .
6x + 5y =1 .éfc,@,)éﬁ/fumuﬁf‘ ()

(243)3(32)°*

Jags)™

Solve system of linear equations by Cramer’s rule:

Use laws of exponents to simplify: P (I P R E )

.o (8.97)°x(3.95)2 (8.97)°x(3.95)> | - . ¥
Simpli (— ACS AV il Y Y s ot Ky ;
plify: == e S a8 (L)
2 . 2 )
If x =2-++/3, find the value of x—%and (x—lj -"é()**u:"ﬁf(x—lj mx—%inx=2+«/§/u ()
X X

x% —x% —10x +8 :édi&&g;g&»ufég;cugfdffﬁ ()
Factorize the given cubic polynomial by factor theorem: x® —x> —10x +8
Use division method to find the square root: 9x* —6x*+7x* —2x+1 AT /l/}g(:“; 20 (D)
Y2-t=32t-28 :ZF ey dS10imgE F el ()
Solve the equation and check for extraneous solution, if any: Y-t=32t-28
-?Jﬂtéugméww- mCA =5.1cm .s/mBC =5cm <mAB=4.6cm (£ &L AABC (&)
Construct a AABC having given mAB=4.6cm , mBC=5cm and mCA=5.1cm. Draw its
angle bisectors.
-gy:)‘widﬂzr.u;/Lbﬁ,ﬁju;néb{,dﬁtdufLb}'ﬂujﬁu‘o/ﬁfé&f’
Prove that any point on the right bisector of a line segment is equid’istant from its end points.
--OR--  __|—-
Surast jm(u”/,l/,ctﬁ/lLu@u;’:(’jl;uyuébdr Sl N 50466 2 NS lr.£0 46 Skl S Shet

Prove that parallelograms on the same base and between the same parallel lines (or of the same altitude)
are equal in area.

gx+2y:j :“éf/u;l;l/cud/dﬁ”dﬁﬁuﬁ@ ()
X—y=—

-6

7

-8

9

5

-6

-7

-8

9

-5
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04

04

04
04

04

04
04

08

04

04

04
04

04

04

04
04

08

Use the matrix inversion method to solve linear equation: :X+2y:j
X—y=—
n 5 4n-1
Use laws of exponents to simplify: (8D ng;)(f;) (243) A (4 P N )
. _ 1.23)(0.6975) . 5
Use log tables to find the value of: (1.23)(0.6975) (S e / ;
g (0.0075)(1278) .“ér;l"u{a,ud/dﬁy//gﬂ )
. . 1 1 2 4 1 1 2 4 :
Simplify: - - - - - - = o
plify x-1 x+1 x°+1 x*-1 x-1 x+1 x*+1 x*-1 £47 @
e U Sk Ind o2 3X — akx - AKE G2 (x+2) Sl (L)
If (x+2)is a factor of 3x*—4kx —4k?, then find the value(s) of k.
x*+x3-2x* +x-3, 5x* +3x* -17x+6 :;é(k”(ﬁjuuﬂﬁ,g/@ ()

Find the H.C.F. by division method: x* +x®—2x*+x-3 , 5x>+3x* -17x+6

3-5x| 1 2 3-5x| 1 2
Solve for x: === _1_f e Pl (s
373 2 373 ( erfhane (L)
mCA=5.2cm, mBC=3.1cm, mAB=45cm & st Zupil it AABC (L)
Construct a AABC . Draw the bisectors of its angles:
mCA =5.2cm, mBC =3.1cm , mAB =4.5¢cm
-wLn,lﬁiﬁJtd;/LCMLwJ(fjéat‘
Prove that the right bisectors of the sides of a triangle are concurrent.

--OR-- "!'."

-d/un/,l/,u’.‘.',.?/uun/,l/f/@/l/ﬂg,@l?L(f@w&lféca:lf'
Prove that triangles on equal bases and of equal altitudes are equal in area.

3 -1 . . 3 -1 -
If B { } , then find B'B. g B'BIB { }/; ()
2 -2 2 -2
20 2m 2n 20 2m 2n .
Simplify [ a;’+m j( am-H’] J( aI'HJ j ( a/:+m j( am+n j( aI‘H—/) :"é/ﬁ (*—‘)
a a a a' a a g
. - 0.678x9.01 0.678x9.01 N 2 .
Use log tables to find the value of: 0.0234 0.0234 .gf(}’*uj N Jug/ K9 ()

b= dS125X° - 216y Jaxy =6 415X —6y =131 (L)
If 5x—6y=13and xy =6, then find the value of 125x> —216y°.
??g/(:ﬁugug/p(x) =4 —TX+6X-3M ¢ 2 x+ 2 Led S m Sk (L)
For what value of m is the polynomial p(x)=4x®-7x*+6x —3m exactly divisible by x+2?

. x* —8x 2x -1 X+3 :
Simplify to the lowest form: x x (S el (
plify 2x*+5x—3 x*+2x+4 x*-2x £/ ()
Solve the equation: M—x =1—§ @—x =1—§ :g.{(}**qd’gwu ()
Construct a AABC and draw the bisectors of its angles: ”5( Pty AABC ()

mCA =5.2cm, mBC =6cm , mAB=4.2cm

UL AL Y Lol St
Prove that the bisectors of the angles of a triangle are concurrent.
--OR--  _|—-
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04
04

08

04

04

04
04

04
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<‘f YA ,}m(um,u/,w/!Luig)un(’fuuyﬂébu’( d)i?iumwwGXJ&étCMuuﬁl?éu/vawyﬁf SEet
Prove that parallelograms on the same base and between the same parallel lines (or of the same
altitude) are equal in area.

4x+y=9 y '
3x—y=-5 :E S ealuie L AL (L

a a+b b b+c ¢ \c+a a a+b b b+c ¢\ ¢+
Show that: (X—b) x(x—cj X(X—aj =1 [X_bJ X(X_C) X(X—aj =1SEE ()
X X X X X X

Solve with the help of Cramer’s rule:

. 1.23)(0.6975 . -
Use log tables to find the value of: W :ér)"ax’“c;;xd/dﬁy(jzgﬂ ()
Ifq=\/§+2,findq2—q—12 -érPquz—q%?nq=£+2ﬁ )

e 23K AKX — Ak + 11X -6 3 2 (x+2) S (L
If (x+2)is a factor of 3x* —4kx +11x -6, then find the value of k.
3 2 .
x2 8Xx2+6x+8 :;é/fuﬁw;%ww ()
X°—4 x°-2x+1 -
x*—8 x*+6x+8
X
X?—4 x*-2x+1

Express the product as an algebraic expression reduced to lowest form:

Solve the equation: @”‘:1—% 5(X6_3)—x=1—§ e Flenle (L)
m/A=120° ,mAC=3.2cm, mAB=2.4cm :&5 it L L 12 b ABC eke (L)

Construct a triangle ABC. Draw the perpendicular bisectors of its sides.
L B oot L Ll S e
Prove that the right bisectors of the sides of a triangle are concurrent.
-OR-- __|—-
_ugém,u,u: S e Sl /,mzf lag, Uil 1S “é:/,t"
Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

Solve by using the matrix inversion method: :ifjizj ES ey~ Lude ()
) ) ap p+q aq q+r ap p+q aq q+r .
Simplify: (—qj [(_’J +5(@@°ra")"",a=0 [—qj [(—rj 5@ a0 & A (L)
a a a a :
. 1.23)(0.6975 w .
Use log tables to find the value of: W :gir,lvyjcuww/ £ ()

e i m? e’ 4 p? Ixmn4nprmp=27 sim+n+p=101 ()

If m+n+p=10and mn+np+mp=27, then find the value of m?+n?+p?.
33 —x*-12x+4 25&%&&3/%&/}&5&,)@1»‘,&&2? ()

Factorize the given cubic polynomial by factor theorem: 3x® —x* —12x +4

2, 2 . B
X +X 6><X 4 35/}3(/:%@]0)V¢2_/Jf%) ()

x>—x-6 x*-9

x>’ +x-6 x?-4
2 x 2
X°—X—-6 Xx°-9

Cx— 1_3 5(x6—3) _le—g e e Faie (L)

S5 1 L ke 1 5 e S EE a8 EE o L & 12 ABC ke (L)
Construct a triangle ABC. Draw the perpendicular bisectors of its sides and verify their

Perform the indicated operation and simplify to the lowest form:

Solve the equation: w

S5

-6

-7

-8

-9

5

-6

7

-8

A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 43



The Hope Super Guess Paper Classs 9th

08

04

04

04

04
04

04

04
04

08

04

04

04

04
04

04

concurrency. Do they meet inside the triangle?
mZ/A=120° , mAC =3.2cm, mAB =2.4cm
_gnél;/?d/’td}rfgcbﬁdlu;ﬂywld:L»LU}/Z:bﬁufﬁugﬁféat‘
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
--OR-- __|—-

_d/u}f/,l/,ufj/a)u;f/,l/,f/@'ﬂu!g,wli'diu?u.ﬂ':?@'f”écf.ﬁ
Prove that triangles on equal bases and of equal altitudes are equal in area.

Solve by using matrix inversion method: g: +5{=i E S el Luds ()
n 5 4n-1
Use laws of exponents to simplify: (81) X?gz_n )((3;3) (243) A e WSS (D)
. 1.23)(0.6975 . p
Use log tables to find the value of: W :;érkf.;,xjc;m{dw(‘%) ()
|fq:£+2,findq2—q_12 -érPquz—q%?nq=ﬁ+2ﬁ )

_Elggud/d"[/x“ —4x% +10x% —kx +9 c_J?“L}((}"‘ofok ()
Find the value of k for which the expression x* —4x® +10x* —kx +9 will become a perfect square.
X —6x2 +3x +10 :"édf,"J&‘?/}(&nuffg;aquff&/ )
Factorize the given cubic polynomial by factor theorem: x* —6x”+3x+10

2 1 1
- = 1X¢i1 s b ;l' .
x2-1 x+1 x+1 é(’l’"wﬁ”af? sbe ()

Construct aAABC . Draw the bisectors of its angles: :?Jﬂtiug;uéw-;u AABC (o)
mCA =5.2cm, mBC=6cm , mAB =4.2cm
BBl it o5t LI5S e $o e s L1555 5 G St
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
-OR-- __|_-

-d/u;f/,l/,uﬁ,}'mu;a/,l/,&@/!Lumlu;fzgu/rmﬁ'dvgﬁyﬁlf“écf.t‘
Prove that triangles on the same base and of the same (i.e., equal) altitudes are equal in area.

53;(__22y_=__160 ke Gy x oa§ s Lude (D
y_

Solve the equation:

3X-2y=-6
5x -2y =-10

:"é/gc)ﬂfufdéucj (_,)

Solve the given linear equations by the matrix inversion method:

n 5 4n-1
Use laws of exponents to simplify: (B x3"~(3) " (243)

(9*")(3)
. 1.23)(0.6975 " )
Use log tables to find the value of: W :“ér,lva,xj¢uww//€) ()
If p:2+ﬁ,findp2—é -;érPaEJpz—éiﬂpﬁN?ﬁ (o)

x* +x?-10x+8 :“édffd/&&}(&nufia,;cugfdj.@ ()
Factorize the given cubic polynomial by factor theorem: x®+x*-10x +8
829X T0K +109K° + XM =P ZE i B SumEm sl (L)

Find the values of 7 and m for which the expression 49x* —70x® +109x> + #x —m will become
a perfect square.
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04 Solve the equation: M—x :1—3 5(X6_ 3 —X :1—% :“é(}’”.:,rd’&wu (W) -8
04 i et LU L1 L ABC 2
Construct a triangle ABC. Draw the perpendicular bisectors of its sides: -
mZA =120° , mAC =3.2cm , mAB = 2.4cm
03 ~€n(‘_§|}/’__ﬁltd»fLbﬂdiu?nﬁwwﬁuc;u;/c’:b,xg&f/ﬁ@/ﬁfé:/,b‘ -9
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.

~-OR- __|-

_ujéﬁ/,!/,uf,}zdﬁif/wwd)i?db&@/uuuldl;4U5ﬁL§'/,l/,f§:x,L"
Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

04 Solve by the Cramer’s rule: 2x+y=3 2x+y=3 :“éd’c;ugfuib"é/i/ D 5
6x+5y=1 6x+5y=1
n 5 4n-1
04 Use laws of exponents to simplify: (81) X:(ggzn)(gs) (243) A e WSSl (D)
3 .,
04 Use log tables to find the value of: % ‘;{;056 :;;fr,w:,gf_uww/ £) () 26

04 ) : /
-éf}"’w’fJ(x—lj AIX—%;;«'X=2+J§/’/! (&)
X

2
If x:2+J§, find the value of x—%and (x—%j

04 %é@gu%g'a/ﬁj/?(x—@/q(x):x3—4x+km p(X) =k +ax% +3x—4 ud, FL L3S 6k (L T
Determine the value of k if p(x)=kx®+4x*+3x—4and q(x)=x>—-4x+k leaves the same
remainder when divided by (x -3).

04 Use division method to find the square root: 9x* —6x> +7x* —2x +1 I“é(’)l’"d/l/,@f:y;’“/% (o)

04 Solve the inequality: -5< 4-3x <1 -5< 4-3x <1 :FEFSen g () 8
04 Construct a triangle PQR. Draw its altitudes and: :§/(CL5A);/£J;_2~_Q POR &£ (o)
mPR =5.5cm , mQR =4.5¢cm , mPQ =6cm
03 —{)’Z,-L‘w’d)L/‘L—U)/Lbﬁﬁb’?ﬁé’)édbd}!fLb}bjﬂf(mwg’ﬁf”éae 9
Prove that any point on the right bisector of a line segment is equidistant from its end points.
-OR-- __|_-

-Jun/,l/.u:,.}'JU)U}’E/,I/.C@/I/)M__MG’L(f@w&|f§b”f.f
Prove that triangles on equal bases and of equal altitudes are equal in area.

04 Solve the equations by using the Cramer’s rule: :FE S eoalude AU (D) 5
3X—-2y=—6
5x -2y =-10

o 25%(27)7 x(60) 2% x (27)% x (60)”? o
04 Simplify: - ’ =y -
plify (180)% x (4) % x (9)* (180)% x (4) # x (9)% 2
04 Use log tables to find the value of: \z/% el e K () 6
04 G 2TX 64y S xy =12 Bx + 4y =110 (L)
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If 3x+4y=11and xy =12, then find the value of 27x> + 64y° .

?Ké@gulz&'_’g/(rv/? (x=3) £q(X) =X —4X + K o p(X) =k® +4x2 +3x -4 usd, FL L8/ Sk (L)
Determine the value of k if p(x)=kx®+4x*+3x—4and q(x)=x%-4x+k leaves the same
remainder when divided by (x -3).

X" +x - 6 x* -4 éfﬁu".lr?‘j/ul/c;g//ybﬂ) (“-‘)

x> —X—6 x2—9

Perform the indicated operation and simplify to the lowest form: = PR
X" =X-= X" =

‘3—45x B % _ % e Feenle (L)

- s S é[pﬁmg b o LU L ioe b ABC & (&)
Construct a triangle ABC. Draw the perpendicular bisectors of its sides and verify their
concurrency. m/B=30° , m/A =45, mAB =5.3cm
_‘Lmél;/?wtlg,umJ73355?anLﬂld,L/-¢u5;)gLJ]JJ..{IJ/JL;/;;L%,UJT!/"éaL“
Prove that any point inside an angle, equidistant from its arms, is on the bisector of it.
-OR-- __|—-
-u;z@n/,u,ut@db{ﬁuCuzmdju“fductﬁm,u,m(’:1,4umc/,u/§;f,ﬁ
Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

ax+2y= 85()? J}L//[U}’l)bfﬁeufd} ()

3-5x| 1

5_

Solve for x: ‘

2
3

X-y=-1

. . ) 4x+2y =8

Solve the system of linear equations by Cramer’s rule: 3 L
X—y=—
P V9™ 2P V(e )
Simplify: [ J [(—rj +5@°@")°"",a=0 (—q) [{—rj +5@fa’)""a=0 & (L)
a a a g

Use log tables to find the value of: 3/% :grwg‘;,lwwﬂw ()

_Eepredfmin’ +p%ix MmN +np+mp =27 s m+n+p=10 /i ()
If m+n+p=10and mn+np+mp =27, then find the value of m*+n’+p*.
b G SR Tl AN — Akx —AK G (x+2) ST (L)
If (x+2)is a factor of 3x* —4kx —4k?, then find the value(s) of k.

. . X2+ X— 6 x*—4 X2+ X— 6 x> —4
Simplify to the lowest form: =y Lol (O
plity X2 —x— 6 x> -9 x> —x—6 x2—9 A oL (&)
) 1 1 2 5 1/1
Solve the equation: S X== |[+===+=| =-3x L 5L ot > ;
| 2( 6) 376 3(2 j FperSiene ()

<gyw,,f£cm£wm, MAC =3.6cm s mBC=4.8cm .mAB =4cm (£U% 2 LAABC (L)
Construct a AABC having given mAB=4cm , mBC=4.8cm and mAC=3.6cm . Draw
perpendicular bisectors of its sides.

<gngb/v..5ftdufLb,xb."g/lu;n)’w!d;l/c;u;/dibﬁu/(ﬁug/ﬁfséaﬁ'
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
--OR-- __|—-

-ugén/,uu:,}u&éuauzmd)l?du&i/u,u,mdr,4u;ﬁc4l4[§§aﬁ
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Prove that parallelograms on equal bases and having the same (or equal) altitude are equal in area.

3x-2y=1 . .
Using Cramer’s rule to solve linear equations: _2); N 3); 5 S enluds AT U (L)
20 2m 2n 20 2m 2n .
Simplify: [ aﬁ+m j[ am+n )( an+l’ J ( a/'+m j[ am+n j[ an+/’ ] :Né/ﬁ (i—‘)
a' a a™ a' a a™ :
.o (8.97)°x(3.95)° (8.97)% x(3.95)? . ¥
Simplify: 897 x(3.95 @I xB)  cox. | 1 Fy (L
plify 315.37 315.37 e u?// (=
Ifx+%=3,find x4+% -éﬂ"’dtfxux—lﬂm”%ﬁ ()

X3 —x? —22x + 40 :“édf,“J&&;f@uny:.quff.w @)
Factorize the given cubic polynomial by factor theorem: x*—x*—22x+40
Ax* +12xy +9y° +16xX + 24y +16 :éf#d}i/@(&jgg/@ )
Use division method to find the square root: 4x*+12xy +9y” +16x + 24y +16
Solve the inequality: 3x —2<2x+1<4x+17 IX—2<2X+1<dx+17 :EF el F ()
m/R =45° , mQR =3.9cm , mPQ =4.5¢cm :g/(étﬁzl)»féu‘l-’elk POR &+ (L)
Construct a triangle PQR. Draw its altitudes: m~/R =45° , mQR =3.9cm, mPQ =4.5cm
e bl e S L 1 L g it L e s S
Prove that any point on the bisector of an angle is equidistant from its arms.
--OR-- __l_.

-ufun/,l/,uﬁ,,':'mu;f/,i/,f,u?/'Luwlunél;/vwl?duglzu?&&lféab‘
Prove that triangles on the same base and of the same (i.e., equal) altitudes are equal in area.

u’:‘"/,é‘bicacfﬁﬁbl.g?/)’ L’b{u(f{,&»ﬂ
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